H3% (catalogue)

e CE f#3: DESCRIPTION T
01100 FERRULE FOR CHINAL-WIRE HOSE 2
01200 FERRULE FOR CHINA2-WIRE HOSE 2
01300 FERRULE FOR CHINA3-WIRE HOSE 3
01400 FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE 3
00100 FERRULE FOR SAE 100RLAT/DIN20022 1ST HOSE 4
00110 FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 4
00110-A FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 5
00200 FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE 5
00210 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
03310 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
00400 FERRULE FOR 4SP, 4SH/10-16, R12/06-16 HOSE 7
00401 FERRULE FOR R12/20-24 HOSE 7
00018 FERRULE FOR SAE 100R7 HOSE 8
00TFO FERRULE FOR TEFLON HOSE 8
00500 FERRULE FOR SAE 100 R5 HOSE 9
00621 FERRULE FOR GB/T 10544 R13/SAE 100 R13/EN856 R13 HOSE 9
10311 O-RING METRIC MALE FLAT SEAT 14
20211 20211-T | METRIC FEMALE FLAT SEAT 15
20241 20241-T | 45° METRIC FEMALE FLAT SEAT 16
20291 20291-T | 90° METRIC FEMALE FLAT SEAT 17
10411 METRIC MALE 24°CONE SEAT L.T. 18
20411 20411-T | METRIC FEMALE 24° CONE O-RING L.T. 19
20411C METRIC FEMALE MULTISEAL 24° CONE L.T. 20
20411C-T

20441 20441-T | 45° METRIC FEMALE 24° CONE L.T. 21
20491 20491-T | 90° METRIC FEMALE 24° CONE O-RING L.T. 22
20491C 90° METRIC FEMALE 24° CONE MULTISEAL L.T. 23
20491C-T 23
10511 METRIC MALE 24° CONE SEAT H.T. 24
20511 20511-T | METRIC FEMALE 24° CONE O-RING H.T. o5
20511C METRIC FEMALE 24° MULTISEAL H.T. 2%
20511C-T

20541 20541-T | 45°METRIC FEMALE 24°CONE O-RING H.T. 27
20541C 45° METRIC FEMALE 24° MULTISEAL H.T, 28
20541C-T

20591 20591-T | 90° METRIC FEMALE 24° CONE O-RING H.T. 29
20591C 30

20591C-T

90° METRIC FEMALE 24° MULTISEAL H.T.




H 3% CATALOGUE

10611

20611 20611-T
20691 20691-T
10711

20711 20711-T
20741

20791

10811L

20111 20111-T
20141 20141-T
20191 20191-T
50011

50091

51011

51091

NS NL

12211

12611

12611A

22611 22611-T

22611-W
22611D

22611D-SM
22641 22641-T
22641-W
22691 22691-T
22691-W
22691K

22111 22111-T
22111-W
22141 22141-T
22141-W
22191 22191-T
22191-W
13011-SP
14211

24211 24211-T
24211-W
24291 24291-T
24291-W
15611

16011

16711L
16711

METRIC MALE DOUBLE USE FOR 60°
METRIC FEMALE 60°CONE
90° METRIC FEMALE 60° CONE

METRIC MALE 74°CONE

METRIC FEMALE 74°CONE SEAT
45°METRIC FEMALE 74°CONE SEAT
90°METRIC FEMALE 74°CONE SEAT
METRIC MALE 90°CONE

METRIC FEMALE MULTISEAL
45°METRIC FEMALE MULTISEAL
90° METRIC FEMALE MULTISEAL
METRIC STANDPIPE STRAIGHT
90°METRIC STANDPIPE STRAIGHT
BSP STANDARD PIPE

90°BSP STANDARD PIPE
RETAINING NUT L.T.

BSP MALE O-RING SEAL

BSP MALE 60°CONE SEAT

BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL
BSP FEMALE 60°CONE

BSP FEMALE 60°CONE DOUBLE HEXAGON
BSP FEMALE 60°CONE DOUBLE HEXAGON

45°BSP FEMALE 60°CONE

90°BSP FEMALE 60°CONE

BSP FEMALE CONE DOUBLE HEXAGON
BSP FEMALE MULTISEAL

45°BSP FEMALE MULTISEAL

90°BSP FEMALE MULTISEAL

BSP MALE
ORFS MALE O-RING SEAL
ORFS FEMALE FLAT SEAT

90°0ORFS FEMALE FLAT SEAT ISO 12151-1—SAE J516

NPT MALE

SAE O-RING SEAL

JIC 74°MALE CONE SEAL LONGER
JIC 74MALE CONE SEAL

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

o1
o1

52

53

54
55

56

57

58
59
60

61

62
63

64
65




H 3% CATALOGUE

26711

26741 26741W
26791 26791W
26791K

17811

27811

21611

87312

87342

87392
87392-H
HALF
FLANGE
87612

87642

87692

18611

28611 28611W
28691 286912
19611

29611 29611W
29691 29691W
88111

88141

88191
20011-ST
70011

700M

72011

720B

90011

90012

JIC FEMALE 74°CONE SEAT

45°JIC FEMALE 74°CONE SEAT
90°JIC FEMALE 74°CONE SEAT
90°JIC COMPACT FEMALE 74°CONE SEAT
SAE MALE 90°CONE

SAE FEMALE 90°CONE SEAT

NPSM FEMALE 60°CONE

SAE FLANGE 3000 PSI

45° SAE FLANGE 3000 PSI

90°SAE FLANGE 3000 PSI

90°SAE FLANGE SPECIAL HEIGHT

FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE FLANGE 6000 PSI

45°SAE FLANGE 6000 PSI

90°SAE FLANGE 6000 PSI

JIS METRIC MALE 60°CONE SEAT
JISMETRIC FEMALE 60° CONE SEAT
90°JIS METRIC FEMALE 60° CONE SEAT
JIS GAS FEMALE 60°CONE SEAT

JIS GAS FEMALE 60°CONE SEAT
90°JIS GAS FEMALE 60°CONE SEAT
JIS FLANGE

45°JIS FLANGE

90°JIS FLANGE

METRIC FEMALE WATERWASH INSERTS 20011-ST
METRIC BANJO

METRIC BOLT

BSP BANJO

BSP BOLT

DOUBLE CONNECTOR

DOUBLE CONNECTOR

66
67
68
69
69
70
71
72
73
74
75
76
76
7
78
79
80
81
82
83
83
84
85
85
86
86
87
88
89
90
90
91




B

FERRULE

73%5| (INDEX)

e

e

E

i
E

01100 0140 DI 00 01404 oaiog Radrio
m@ W [T Iﬂﬂ@ m

Qur10-A 0drdo 00710 0 10 00400 oo4u1

T i (111 @WM

gouoi oorrd 00204 006# |




£f4 FERRULE

7 01100

| E e — R R A
FERRULE FOR CHINAL-WIRE HOSE

Re fiii % HOSE BORE .=} DIMENSIONS
PART NO. IAFRPEE DN | 455 DASH L
01100-03 5 03 28
01100-04 6 04 30
01100-05 8 05 32
01100-06 10 06 32
01100-08 12 08 34
01100-10 16 10 39
01100-12 20 12 43
01100-14 22 14 43
01100-16 25 16 50
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78

L

01200

ErF T ERARE AR
FERRULE FOR CHINA2-WIRE HOSE

B fli& HOSE BORE R~} DIMENSIONS
PART NO. IAFRPEE DN | 455 DASH L
01200-03 5 03 28
01200-04 6 04 30
01200-05 8 05 32
01200-06 10 06 32
01200-08 12 08 34
01200-10 16 10 39
01200-12 20 12 43
01200-14 22 14 43
01200-16 25 16 50
01200-20 32 20 59
01200-24 40 24 74
01200-32 50 32 78




£f4 FERRULE

L .
01300
Er” = B R R IE E R
FERRULE FOR CHINA3-WIRE HOSE
He fiz%& HOSE BORE R~ DIMENSIONS
PART NO. AFFNEE DN | #75 DASH L
01300-04 6 04 30
01300-05 8 05 32
01300-06 10 06 32
01300-08 12 08 34
01300-10 16 10 39
01300-12 20 12 43
01300-14 22 14 43
01300-16 25 196 50
01300-20 32 20 59
01300-24 40 24 74
01300-32 50 32 78
- L -
Al
R12/20-24 J|EF= ¥ FhAIUE N2 B SeI s £ 1A
FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE
=2 f % HOSE BORE R~ DIMENSIONS
PART NO. IAFANEE DN | #15 DASH L
01400-04 6 04 375
01400-06 10 06 39
01400-08 12 08 41
01400-10 16 10 43
01400-12 20 12 51
01400-14 22 14 54
01400-16 25 196 615
01400-20 32 20 67.5
01400-24 40 24 75
01400-32 50 32 79




£f4 FERRULE

i L o
T o
SAE 100RIA/DIN20022 1ST &'& &l
FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE
R %% HOSE BORE K5I DIMENSIONS
PART NO. /AFRNEE DN | #15- DASH L
00100-02 4 02 27
00100-04 6 04 30
00100-05 8 05 31
00100-06 10 06 32
00100-08 12 08 34
00100-10 16 10 37
00100-12 20 12 43
00100-16 25 16 50
00100-20 32 20 59
00100-24 40 24 74
00100-32 50 32 78
- L -
I
SAE 100R1AT/DIN20022 1SN & E A
FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE
K fiz & HOSE BORE R~ DIMENSIONS
PART NO. NFRNEE DN | #55- DASH L
00110-03 5 03 245
00110-04 6 04 30
00110-05 8 05 31
00110-06 10 06 32
00110-08 12 08 34
00110-10 16 10 37
00110-12 20 12 43
00110-16 25 16 50
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78




£f4 FERRULE

. L .
TN
1 SAE 100R1AT/DIN20022 1SN & ER
FERRULE FOE SAE 100R1AT/DIN20022 1SN HOSE
e k& HOSE BORE JU=F DIMENSIONS
PART NO. INFRNEE DN | #15° DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 42
00110-16A 25 16 51
. L -
AT o
SAE 100R2A/DIN20022 2ST IR 2E(E
FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE
e K% HOSE BORE JL=F DIMENSIONS
PART NO. NFRNEE DN | #n5 DASH L
00200-02 4 02 27
00200-04 6 04 30
00200-05 8 05 31
00200-06 10 06 32
00200-08 12 08 34
00200-10 16 10 37
00200-12 20 12 43
00200-16 25 16 50
00200-20 32 20 59
00200-24 40 24 74
00200-32 50 32 78




£f4 FERRULE

| L

LI -~

SAE 100R2AT/EN 853 2SN /&£
FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE

(A%=2 % HOSE BORE K.~} DIMENSIONS
PART NO. AFRINFEE DN | #1 5 DASH L
00210-03 5 03 245
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 32 78

HEARHER T TR
L

7
‘ | ” W 03310

SAE 100R2AT/EN 853 2SN /& & (%
L FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

rRE fii& HOSE BORE K.~} DIMENSIONS
PART NO. AFRNEE DN | #r5- DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51
03310-20 32 20 59
03310-24 40 24 67
03310-32 50 32 72




£f4 FERRULE

- L -
i
ASP, 4SH/12-16, R12/06-16 #/&EfE

FERRULE FOR 4SP, 4SH/10-16, R12/06-16 HOSE

e [l & HOSE BORE R~} DIMENSIONS
PART NO. IAFANEE DN | #15 DASH L
00400-04 6 04 375
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79

1L

AT
4SH. R12/326 HiEER

FERRULE FOR 4SP, 4SH/10-16, R12/06-16 HOSE

R [z HOSE BORE R~ DIMENSIONS
PART NO. AFRINEE DN | #15- DASH L
00401-20 32 20 67.5
00401-24 40 24 75
00401-32 50 32 79




£f4 FERRULE

SR 00018
SAE 100 R7 &£
FERRULE FOR SAE 100R7 HOSE
ke %% HOSE BORE R~ DIMENSIONS
PART NO. INFRNEE DN | #15 DASH L
00018-03 5 03 27
00018-04 6 04 29
00018-05 8 05 31
00018-06 10 06 31
00018-08 12 08 34
00018-10 16 10 36
00018-12 20 12 43
00018-16 25 16 50
: 00TFO
KR AR
FERRULE FOR TEFLON HOSE
e fic% HOSE BORE R~} DIMENSIONS

PART NO. INFRNEE DN | #15 DASH L
00TF0-03 4 03 265
00TF0-04 6 04 30.7
00TF0-05 8 05 306
00TF0-06 10 06 Rl
00TF0-08 12 08 343
00TFO-10 16 10 37
00TF0-12 20 12 428
00TFO-14 22 14 427
00TFO-16 25 16 50.8




£f4 FERRULE

00500

SAE 100 R5 &£
FERRULE FOR SAE 100 R5 HOSE

e Ji: & HOSE BORE JLF DIMENSIONS
PART NO. ANFRNEE DN ¥r5 DASH | SAE 5 75 L
00500-03 4 03 04 22.6
00500-04 6 04 05 25.7
00500-05 8 05 06 22.4
00500-07 11 07 08 26.2
00500-08 12 08 10 27.7
00500-10 16 10 12 29.7
00500-14 22 14 16 335
00500-18 28 18 20 42.7
00500-22 35 22 24 47
00500-29 46 29 32 50.8
00500-38 60 38 40 63.0

I
-

Lo

LI

00621

GB/T 10544 R13/SAE 100 R13/EN856 R13
FERRULE FOR FERRULE FOR SAE 100 R15 HOSE

- YU NS

o [ %% HOSE BORE R~} DIMENSIONS
PART NO. IAFANEE DN | #15 DASH L
00621-12 20 12 53
00621-16 25 15 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108




maEHESL  HOSE FITTING

<0<11

<0611

y ;’; [uuu L.
f'}/\s s
N =
10411 20411 20441 4 = 20491
(T
I./////
///, i P
,//,}_jnu]]nrr_rz ///‘j]ﬂ]]]]l]][[
R -
10511 20511 V20541 = 20091
T

10711

<0711

z’/”

R

J/’J T

20741

10811L

/// il

=
A i
NN
Sy _l
e
20111 20141 b fi Z0191
13 S—

10




maEHESL  HOSE FITTING

50011

NL,NS
31011

)
T -

|,.U\\1m_

12211

<ebl11D-5M

12611 12611A <db11 <Z611D

-SP

14411




maEHESL  HOSE FITTING

16711 16711L <b711

87411 87341 %—E 47391 %ij 87391 -1

47641

12



maEHESL  HOSE FITTING

18611 28611

19611 29611

BB111 BY141 ﬁkk RE19I

20011-51

P e O 22 O 255

70011 700M 71011 710M 7011 720B

13




maEHESL  HOSE FITTING

A

D

3 LI

10311

NTHISMRESCTE O TR E
O-RING METRIC MALE FLAT SEAT

(A= 2 4 E L7 H N ~F
INFRNEE B A C S1
10311-12-04 M12X1.25 6 04 225 10 14
10311-14-04 M14X1.5 6 04 235 11 14
10311-16-04 M16X1.5 6 04 235 11 17
10311-16-05 M16X1.5 8 05 235 11 17
10311-16-06 M16X1.5 10 06 235 11 17
10311-18-06 M18X1.5 10 06 235 11 19
10311-22-05 M22X1.5 8 05 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 315 13 30
10311-30-12 M30X1.5 20 12 335 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 445 50 46
10311-52-24 M52X2 40 24 475 22 55
10311-64-32 M64X2 50 32 52.5 27 65

A L B EHTREARE, 20 WFHTESRENRS 7 10312-xX-XX,

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 10312-XX-XX.

14



sl HOSE FITTING

[ .| C !

o o
%mﬂnw

Hju_[-JJHUUUUi__

e g

[EIAR NI PIRR S -]

METRIC FEMALE FLAT SEAT

20211 20211-T
= i 4 E L2 " R ~F

INHRNER e A C S2
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 16 85 19
20211-14-05 M14X1.5 8 05 155 85 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 17 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 175 8 24
20211-18-06 M20X1.5 10 06 185 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 185 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 19.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 105 30
20211-27-08T M27X1.5 12 08 185 10 32
20211-27-10T M27X1.5 16 10 21 10 32
20211-30-12 M30X1.5 20 12 22 11 36
20211-33-14 M33X2 22 14 21.5 13 41
20211-36-12T M36X2 20 12 24 13 41
20211-36-14T M36X2 22 14 24 13 41
20211-39-16T M39X2 25 16 25 13 46
20211-42-20W M42X2 32 20 25 15 50
20211-45-20T M45X2 32 20 27 15 55
20211-52-24T M52X2 40 24 27 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75

A L B EHTREARE, 20 WFEHTESRENRS R 20212-xX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 20212-XX-XX.

15



;EEsL HOSE FITTING

A5° /NI N R
45° METRIC FEMALE FLAT SEAT

T = 2 E N “ R ~f
AFRNEE R 5 A C H S2
20241-14-04 M14X1.5 6 04 38 8.5 19 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 42.3 8.5 20.7 22
20241-18-06 M18X1.5 10 06 455 8 22 24
20241-22-08 M22X1.5 12 08 575 10 24.5 27
20241-27-10T M27X1.5 16 10 58 10 24.5 32
20241-30-12T M30X1.5 20 12 74 11 30 36
20241-36-12T M36X2 20 12 75 13 215 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 31.5 41
20241-39-16T M39X2 25 16 82 13 30 46
20241-42-20W M42X2 32 20 95.9 15 35.2 50
20241-45-20T M45X2 32 20 945 15 355 55
20241-52-20T M52X2 32 20 94.5 17 33.8 60
20241-52-24T M52X2 40 24 105 17 385 60
20241-60-28T M60X2 45 28 118.7 20 43.6 70
20241-62-32T M64X2 50 32 127.8 23 45.6 75
A L ERS A TRARE, 20 WFEATESIENRS 9 20242-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 20242-XX-XX.

16



sl HOSE FITTING

90° /AT PRS- H]

90° METRIC FEMALE FLAT SEAT

R = WL E ) & R ~

INPRNER S A C H S2
20291-12-02 M12X1.25 4 02 26.5 8 305 17
20291-12-04 M12X1.25 6 04 30 8 335 17
20291-14-04 M14X1.5 6 04 275 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 31 8 395 22
20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 33 8 42 24
20291-22-08 M22X1.5 12 08 425 10 49.5 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-24-08T M24X1.5 12 08 41 11 455 30
20291-27-04T M27X1.5 6 04 30 10 355 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 48.5 10 515 32
20291-30-12 M30X1.5 20 12 50.5 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 57.5 13 64 41
20291-36-16 M36X2 25 16 66 13 765 41
20291-39-16T M39X2 25 16 66 13 725 46
20291-42-20W M42X2 32 20 915 15 80.5 50
20291-45-20T M45X2 32 20 75 15 85 55
20291-52-20T M52X2 32 20 915 17 785 60
20291-52-24T M52X2 40 24 89 17 97 60
20291-60-28T M60X2 45 28 119.9 20 | 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75

L ERRSHTRARE. 20 WHHATESZKENS
NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 20292-XX-XX.

2.

79 20292-XX-XXo

IF USE WITH SPIRAL HOSES

17



maEHESL  HOSE FITTING

o 10411

e it ISR 24° N TR

B I SO 8434-1-DIN 3861
, METRIC MALE 24°CONE SEAT L.T.
£ 7= WA E B B R~
IR 5 A C S2

10411-12-04 M12X1.5 6 04 6 22 10 12
10411-14-04 M14X1.5 6 04 8 22 10 14
10411-14-05 M14X1.5 8 05 8 22 10 14
10411-16-04 M16X1.5 6 04 10 235 11 17
10411-16-05 M16X1.5 8 05 10 235 11 17
10411-16-06 M16X1.5 10 06 10 235 11 17
10411-18-05 M18X1.5 8 05 12 24 11 19
10411-18-06 M18X1.5 10 06 12 24 11 19
10411-22-06 M22X1.5 10 06 15 26.5 12 24
10411-22-08 M22X1.5 12 08 15 27 12 24
10411-26-08 M26X1.5 12 08 18 28.5 12 27
10411-26-10 M26X1.5 16 10 18 29.5 12 27
10411-27-10 M27X1.5 16 10 18 325 14 30
10411-30-10 M30X2 16 10 22 335 14 32
10411-30-12 M30X2 20 12 22 335 14 32
10411-36-16 M36X2 25 16 28 36 14 38
10411-45-20 M45X2 32 20 35 40 16 46
10411-52-24 M52X2 40 24 42 43 16 55

P LSRR TRRIE, 2 WFATESERE % 10412000,

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 10412-XX-XX.




;EEsL HOSE FITTING

==

WMM

L.
5

INHINIRE 24°%E 7 O RIS
I1ISO 2151-2-DIN 3865
METRIC FEMALE 24° CONE O-RING L.T

851

20411 20411-T
& IR E "__E WIAE | O Ml

AHNEE | AR & A c s
20411-12-04 M12X1.5 6 04 6 004.5X1.5 25 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 26.5 2 19
20411-14-06 M14X1.5 10 06 8 006.5X1.5 271.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5 27 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 27 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
20411-18-05T M18X1.5 8 05 12 010.0X1.5 255 15 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 25 24
20411-18-08 M18X1.5 12 08 12 010.0X1.5 295 25 24
20411-22-05T M22X1.5 8 05 15 012.0X2 26.5 3 27
20411-22-06T M22X1.5 10 06 15 012.0X2 28.5 3 27
20411-22-08 M22X1.5 12 08 15 012.0X2 32.5 25 27
20411-26-10 M26X1.5 16 10 18 015.0X2 345 25 32
20411-26-12 M26X1.5 20 12 18 015.0X2 345 25 32
20411-30-10T M30X2 16 10 22 020.0X2 33 3.8 36
20411-30-12 M30X2 20 12 22 020.0X2 36.5 4 36
20411-36-12T M36X2 20 12 28 026.0X2 36 4.5 46
20411-36-14T M36X2 22 14 28 026.0X2 36.5 4.5 46
20411-45-16T M45X2 25 16 35 032.0X2 42 4 55
20411-45-20T M45X2 32 20 35 032.0X2 43 4 55
20411-52-20T M52X2 32 20 42 038.0X2 445 4 60
20411-52-24T M52X2 40 24 42 038.0X2 445 4 | 60

G‘E 1. J:L{—tﬁﬂqq:ﬁ//\iﬂéo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412-XX-XX.

2.

nFE M TESES

H 20412-XX-XX,

19



maEHESL  HOSE FITTING

A

[y
T Er T

\_\\S_E

20411C-T 20411C

Hjﬂiﬂﬂﬂﬂﬂm

ONTHINBREL 24°BK T

BSR4
METRIC FEMALE MULTISEAL 24° CONE L.T.

() WAL E w R ICE R Sf

INFRNER = A C S2
20411C-12-04 M12X1.5 6 04 6 195 35 17
20411C-14-04 M14X1.5 6 04 8 20.5 35 19
20411C-16-04 M16X1.5 6 04 10 21 35 22
20411C-16-05 M16X1.5 8 05 10 21 35 22
20411C-16-06 M16X1.5 10 06 10 21 35 22
20411C-18-06 M18X1.5 10 06 12 225 3 24
20411C-22-06T M22X1.5 10 06 15 23.5 45 27
20411C-22-08 M22X1.5 12 08 15 24 45 27
20411C-26-10 M26X1.5 16 10 18 27 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12 M30X2 20 12 22 27 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
20411C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

TR L RO TR E

NUMBER IS 20412C-XX-XX.

2. WFEMHTESRENRS
NOTE : 1. FOR USE WITH BRAIDED HOSES

9 20412C-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

20



maEHESL  HOSE FITTING

20441-T

A5° NI NHR LT 24°HE T O TEIBIR R A
I1SO 12151-2-DIN 3865
45° METRIC FEMALE 24° CONE L.T.

(A B4 E = & BHIME | O KA R Bl

DHENEE | m & A C H S2
20441-12-04 M14X1.5 6 04 8 006.5X1.5 | 45 2 26 | 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5 | 495 2 | 278 | 22
20441-16-06 M16X1.5 10 06 10 008.0X1.5 | 513 2 | 2718 | 22
20441-18-05T M18X1.5 8 05 12 010.0X15| 447 | 15 | 232 | 22
20441-18-06 M18X1.5 10 06 12 010.0X1.5| 53 2.5 29 | 24
20441-22-05T M22X1.5 8 05 15 012.0X2 3 27
20441-22-06T M22X1.5 10 06 15 012.0X2 49 3 | 253 | 27
20441-22-08 M22X1.5 12 08 15 012.0X2 | 665 | 25 | 34 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2 61 2.1 28 | 32
20441-26-10 M26X1.5 16 10 18 015.0X2 70 25 | 36 | 32
20441-26-12 M26X1.5 20 12 18 015.0X2 25 32
20441-30-10T M30X1.5 16 10 22 020.0X2 64 38 | 30 | 36
20441-30-12 M30X1.5 20 12 22 020.0X2 | 845 4 | 405 | 36
20441-36-12T M36X1.5 20 12 28 028.0X2 | 793 | 45 | 355 | 46
20441-36-14T M36X2 22 14 28 028.0X2 45 46
20441-45-20T M45X2 32 20 35 035.0X2 | 101.8 | 4 | 424 | 55
20441-52-20T M52X2 32 20 42 042.0X2 4 | 466 | 60
20441-52-24T M52X2 40 24 42 042.0X2 113 4 60

L ERRSH TRARE, 20 MREHATESRENS A 20412-x-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20412-XX-XX.

21




sl HOSE FITTING

20491-T

90° /I BRI 24°%E T O TRB R RS
1SO 12151-2-DIN 3865
90° METRIC FEMALE 24° CONE O-RING

(A WAL E w® BTAME | O WA R =t
INFRNER R = A C H S2

20491-12-03 M12X1.5 5 03 6 004.5X1.5 25.6 1 345 17
20491-12-04 M12X1.5 6 04 6 004.5X1.5 275 1 43 17
20491-14-04 M14X1.5 6 04 8 006.5X1.5 275 2 445 19
20491-16-04 M16X1.5 6 04 10 008.0X1.5 275 2 45 22
20491-16-05 M16X1.5 8 05 10 008.0X1.5 31 2 495 22
20491-16-06 M16X1.5 10 06 10 008.0X1.5 33 2 50.5 22
20491-18-05T M18X1.5 8 05 12 010.0X1.5 31 15 43 22
20491-18-06 M18X1.5 10 06 12 010.0X1.5 33 25 525 24
20491-22-06T M22X1.5 10 06 15 012.0X2.0 33 3 47 27
20491-22-08 M22X1.5 12 08 15 012.0X2.0 425 25 62.5 27
20491-26-08T M26X1.5 12 08 18 015.0X2.0 425 2.1 545 32
20491-26-10 M26X1.5 16 10 18 015.0X2.0 48.5 25 68 32
20491-26-12 M26X1.5 20 12 18 015.0X2.0 50.5 25 76 32
20491-30-10T M30X2 16 10 22 020.0X2.0 48.5 3.8 59.5 36
20491-30-12 M30X2 20 12 22 020.0X2.0 50.5 4 78 36
20491-36-12T M36X2 20 12 28 026.0X2.0 50.5 45 71 46
20491-36-14T M36X2 22 14 28 026.0X2.0 45 46
20491-45-16T M45X2 25 16 35 032.0X2.5 66 4 83 55
20491-45-20T M45X2 32 20 35 032.0X2.5 75 4 95 55
20491-52-20T M52X2 32 20 42 038.0X2.5 75 4 96.5 60
20491-52-24T M52X2 40 24 42 038.0X2.5 89 4 108.5 60

L ERRGSHTRARE, 20 MTATESKENRS A 204922-xx-xx,
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 20492XX-XX.

22



maEHESL  HOSE FITTING

90°_ /ATHINERZY 24° ER
ﬁ&%;‘%ﬁd

90°METRIC FEMALE 24°
CONE MULTISEAL L.T.

20491C 20491C-T
f = WRLY E W B THME R+
DHNEE | R & A C H S2
20491C-14-04 M14X1.5 6 04 8 30 | 35 | 395 | 19
20491C-16-04 M16X1.5 6 04 10 30 | 35 | 40 | 2
20491C-16-05 Ll 8 05 10 33 | 35 | 43 | 2
20491C-16-06 M16X1.5 10 06 10 3525 | 35 | 452 | 22
20491C-18-06 M18X1.5 10 06 12 3825 | 3 |4725| 24
20491C-22-08 M22X1.5 12 08 15 41 | 45 | s3 | 27
20491C-26-10 M26X1.5 16 10 18 565 | 4 60 | 32
20491C-30-12 M30X2 20 12 22 655 | 7 | 385 | 36
20491C-36-12T M36X2 20 12 28 655 | 65 | 675 | 41
VL LR TRARE. 2 WEATESREY 9 20491CxXXX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |
HOSE FITTINGS SERIES NUMBER IS 20492C-XX-XX.




AL

HOSE FITTING

]

T
f-dtli

INTHISMRET 24° PWHETEH RS

10511

1SO-84341—DIN 3861
METRIC MALE 24° CONE SEAT H.T.

() WAL E W TR R~

NN | W & A C s1
10511-14-04 M14X1.5 6 04 6 24 12 14
10511-16-04 M16X1.5 6 04 8 24.5 12 17
10511-18-04 M18X1.5 6 04 10 25 12 19
10511-20-05 M20X1.5 8 05 12 26 12 22
10511-20-06 M20X1.5 10 06 12 26 12 22
10511-22-05 M22X1.5 8 05 14 28.5 14 24
10511-22-06 M22X1.5 10 06 14 28.5 14 24
10511-22-08 M22X1.5 12 08 14 29 14 24
10511-24-08 M24X1.5 12 08 16 30 14 27
10511-30-10 M30X2 16 10 20 35.5 16 32
10511-30-12 M30X2 20 12 20 355 16 32
10511-36-12 M36X2 20 12 25 38.5 18 38
10511-36-16 M36X2 25 16 25 40 18 38
10511-42-16 M42X2 25 16 30 43 20 46
10511-42-20 M42X2 32 20 30 44 20 46
10511-52-20 M52X2 32 20 38 48 22 55

T L ERAS TR,

NOTE

2. WFHMTREERERS
1. FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 10512-XX-XX.

79 20512-XX-XX,

2. IF USE WITH SPIRAL HOSES

24



BERESL HOSEFITTING

S ] ey
ﬁwm’ %{ i ° W 0 WEE

44_I_[LLIUUULILLL_ Z 5
. ISO 12151-2—DIN 386

METRIC FEMALE 24° CONE

20511 20511-T O-RINGH.T.
. W E W g wraME | o HE R~

INFRINES =2 A C | s1

20511-14-04 M16X1.5 6 04 6 004.5X1.5 27.4 15 19
20511-16-04 M16X1.5 6 04 8 006.5X1.5 275 15 22
20511-16-05 M16X1.5 8 05 8 006.5X1.5 275 15 22
20511-18-04T M18X1.5 6 04 10 008.0X1.5 26 15 22
20511-18-06 M18X1.5 10 06 10 008.0X1.5 29.5 2 24
20511-20-06T M20X1.5 10 06 12 010.0X1.5 275 25 24
20511-20-08 M20X1.5 12 08 12 010.0X1.5 315 25 27
20511-22-06T M22X1.5 10 06 14 011.0X2.0 285 3 27
20511-22-08 M22X1.5 12 08 14 011.0X2.0 325 25 27
20511-24-06T M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T M24X1.5 12 08 16 013.0X2.0 30 3 30
20511-30-10T M30X2 16 10 20 016.3X2.4 335 25 36
20511-30-12 M30X2 20 12 20 016.3X2.4 37 3 36
20511-36-12T M36X2 20 12 25 020.3X2.4 37 3.2 | 46
20511-36-14T M36X2 22 14 25 020.3X2.4 37 3.2 | 46
20511-42-12T M42X2 20 12 30 025.3X2.4 375 39 50
20511-42-16T M42X2 25 16 30 025.3X2.4 41 39 50
20511-52-20T M52X2 32 20 38 033.3X2.4 44 45 60
20511-52-24T M52X2 40 24 38 033.3X2.4 44 45 60

A 1L B ES H TREAEE 2. WEATESRENRS A 20512-XX-XXs

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 1520512-XX-XX.




maEHESL  HOSE FITTING

20511C  20511C-T
INTINEREL 24°  BR1H H RS
METRIC FEMALE 24° MULTISEAL

H.T.
(A HELT E ®w i1 BFIME R F
AN | R & A C S2
20511C-18-04T M18X1.5 6 04 10 21 3 22
20511C-20-05T M20X1.5 8 05 12 215 | 45 24
20511C-20-06T M20X1.5 10 06 12 215 | 45 24
20511C-22-06T M22X1.5 10 06 14 215 | 45 27
20511C-24-08T M24X1.5 12 08 16 23 5 30
20511C-30-10T M30X2 16 10 20 265 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T M42X2 25 16 30 295 9 50
20511C-52-20T M52X2 32 20 38 34 8 60
H L BRI TRERE, 20 WA TESRENRS 7 20512C-xX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 1520512C-XX-XX.




;EEsL HOSE FITTING

45° NI PR ZT
24° T O B E R
1SO 12151-2-DIN
45°METRIC FEMALE
24°CONE O-RING H.T.

(A= 2 E N & B1IM O W& R ~+

OSHNEE | IR & A C H S2
20541-14-04 M16X1.5 6 04 6 004.5X1.5 46 15 27 19
20541-16-04 M16X1.5 6 04 8 006.5X1.5 46 15 27 22
20541-16-05 M16X1.5 8 05 8 006.5X1.5 | 495 15 28.1 22
20541-18-04T M18X1.5 6 04 10 008.0X1.5 | 415 15 22.5 22
20541-18-06 M18X1.5 10 06 10 008.0X1.5 53 2 29.5 24
20541-20-06T | M20X1.5 10 06 12 010.0X1.5 | 485 2.5 25 24
20541-20-08 M20X1.5 12 08 12 010.0X15 | 659 2.5 33 27
20541-22-06T | M22X1.5 10 06 14 011.0X2.0 | 48.9 3 25.3 27
20541-22-08 M22X1.5 12 08 14 011.0X2.0 | 66.5 25 34 27
20541-24-08T | M24X1.5 12 08 16 013.0X2.0 | 61.3 3 28.5 30
20541-30-10T M30X2 16 10 20 016.3X2.4 | 645 2.5 30.8 36
20541-30-12 M30X2 20 12 20 016.3X2.4 | 845 3 41 36
20541-36-12T M36X2 20 12 25 020.3X2.4 80 3.2 36 46
20541-36-14T M36X2 22 14 25 020.3X2.4 3.2 46
20541-42-16T M42X2 25 16 30 025.3X2.4 | 894 3.9 37.5 50
20541-52-20T M52X2 32 20 38 033.3X2.4 102 45 42.8 60
20541-52-24T M52X2 40 24 38 033.3X2.4 4.5 60

NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER 1520542-XX-XX.

2. MFHTESERENS
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

 20542-XX-XX,

27



maEHESL  HOSE FITTING

20541C 20541C-T
45° IANTHINRZL 24°  ERmR A
DIN3868
45° METRIC FEMALE 24° MULTISEAL H.T.
fo 2L E woE BAME R+
INFRNER 5 A C H S2
20541C-16-04 M16X1.5 6 04 8 44.8 3 22.7 19
20541C-18-04T M18X1.5 04 10 43.7 3 21.6 22
20541C-20-06T M20X1.5 10 06 12 48.9 45 24.6 24
20541C-24-08T M24X1.5 12 08 16 61.4 25 26.5 30

T L B ROS H TRRARAE .
NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER [520542C-XX-XX.

2. I TRGRER

79 20542Cxx-XX,

2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

28



maEHESL  HOSE FITTING

Fre,

24°

90° il PIBERZY

HH 0 JWHERS
ISO 12151-2-DIN 3865
90°METRIC FEMALE 24°CONE

O-RING H.T.
20591-T
- £t
& W4 E A IV o W S
AN | B A |C | H |s
2

20591-14-04 M16X1.5 6 04 004.5X1.5 275 15 454 19
20591-16-04 M16X1.5 6 04 006.5X1.5 275 15 455 22
20591-16-05 M16X1.5 8 05 006.5X1.5 31 15 50 22
20591-18-05T M18X1.5 8 05 10 008.0X1.5 31 15 435 22
20591-18-06 M18X1.5 10 06 10 008.0X1.5 33 2 53 24
20591-20-06T M20X1.5 10 06 12 010.0X1.5 33 25 46.5 24
20591-20-08 M20X1.5 12 08 12 010.0X1.5 425 | 25 61.5 27
20591-22-06T M22X1.5 10 06 14 011.0X2.0 33 3 47 27
20591-22-08 M22X1.5 12 08 14 011.0X2.0 425 | 25 62.5 27
20591-24-08T M24X1.5 12 08 16 013.0X2.0 425 3 55 30
20591-24-10 M24X1.5 16 10 16 013.0X2.0 485 | 25 68 30
20591-30-10T M30X2 16 10 20 016.3X2.4 485 | 25 60.5 36
20591-30-12 M30X2 20 12 20 016.3X2.4 50.5 3 78.5 36
20591-36-12T M36X2 20 12 25 020.3X2.4 505 | 3.2 72 46
20591-36-14T M36X2 22 14 25 020.3X2.4 575 | 3.2 74 46
20591-42-16T M42X2 25 16 30 025.3X2.4 66 3.9 83 50
20591-52-20T M52X2 32 20 38 033.3X2.4 75 45 95.5 60
20591-52-24T M52X2 40 24 38 033.3X2.4 93 45 | 1075 | 60

T LB RS H TRRZRE .
NOTE : 1. FOR USE WITH BRAIDED HOSES
NUMBER IS 20592-XX-XX.

2. WM TESRENRS

7 20592-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

29




Mg RESL HOSE FITTING

20591C 20591C-T
90° AHINMAL 24° BRiEERS
90° METRIC FEMALE 24°
MUI TISFAl HT.

f = ALY E w0 HFHNE R+t
NN | IR & A C H |S2
20591C-16-04 | M16X1.5 6 04 8 30 3 40 | 22
20591C-18-04T | M18X15 6 04 10 30 3 | 385 | 22
20591C-20-05T | M20X1.5 8 05 12 33 45 42 | 24
20591C-20-06T | M20X1.5 10 06 12 353 | 45 | 457 | 24
20591C-22-06T | M22X15 10 06 14 353 | 45 | 447 | 27
20591C-24-08T | M24X15 12 08 16 4 5 52 | 30
20591C-30-10T M30X2 16 10 20 56.5 7 565 | 36
20591C-36-12T M36X2 20 12 25 655 | 65 | 66.5 | 41
20591C-42-16T M42X2 25 16 30 78 9 735 | 50
20591C-52-20T M52X2 32 20 38 93 8 | 875 | 60
A L BB TRERE, 2. WEMATESRENS 9 20592C-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER 1S20592C-XX-XX.




RS

HOSE FITTING

J1 1T ‘ = AR 60°  NHEEmE S AR
N IO 1 B A B B 23k
METRIC MALE DOUBLE USE FOR 60°
10611
(A= 84y E L4 (=4 N <}
NN | B & A C s1
10611-14-04 M14X1.5 6 04 235 | 11 19
10611-14-06 M14X1.5 10 06 25 11 19
10611-16-04 M16X1.5 6 04 275 | 12 22
10611-16-05 M16X1.5 05 275 | 12 22
10611-18-06 M18X1.5 10 06 295 | 12 24
10611-22-06 M22X1.5 10 06 305 | 14 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
10611-27-10D M27X1.5 16 10 35 16 32
10611-27-10 M27X1.5 16 10 37 18 32
10611-30-12D M30X2 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 20 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 20 60

L RS A TRRAAE,
NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 10612-XX-XX.

2. WA TR

2.

K 10612XX-XX,

IF USE WITH SPIRAL HOSES

31



maEHESL  HOSE FITTING

. JNH A °©
aﬁ;{ T NI N ERZX 60
\ METRIC FEMALE 60°CONE
20611 20611-T
R 5 245 E L/ i1 R <F
NENEE | R & A C S2
20611-14-04 M14X1.5 6 04 19 55 19
20611-16-05 M16X1.5 8 05 195 | 55 22
20611-16-06 M16X1.5 10 06 19 55 22
20611-18-06 M18X1.5 10 06 21 55 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 235 6 27
20611-24-10 M24X1.5 16 10 245 65 | 30
20611-26-10 M26X1.5 16 10 25 6 32
20611-27-10DT M27X1.5 16 10 255 6 32
20611-27-10T M27X1.5 16 10 255 6 32
20611-30-10D M30X2 16 10 26.5 6 36
20611-30-12D M30X2 20 12 26.5 6 36
20611-30-12 M30X2 20 12 27 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60
L RS TREARE, 20 mEATESRENRE A 20612-xx-xX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 1520612-XX-XX.




maEHESL  HOSE FITTING

90° ATISMNEREX 60° ShHE
90°METRIC FEMALE 60°CONE

20691 20691-T
(A= B4 E L/ (o4 R =t
DN | R & A C H S2
20611-14-04 M14X1.5 6 04 275 | 55 37 19
20611-16-05 M16X1.5 8 05 31 55 42 22
20611-18-06 M18X1.5 10 06 33 55 | 445 24
20611-22-08 M22X1.5 12 08 42,5 6 535 27
20611-27-10DT M27X1.5 16 10 56 6 55 32
20611-30-12D M30X2 20 12 66.2 6 68.5 36
20611-36-16 M36X2 25 16 78 65 | 765 41
20611-36-14T M36X2 22 14 712 | 65 | 675 41
20611-39-16T M39X2 25 16 767 | 65 74 46
20611-45-20T M45X2 32 20 915 | 85 85 55
20611-52-24T M52X2 40 24 109.4 | 10 99 60
L RS TREARE, 20 mFEATESRENRE A 20692-xx-xX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER 1S20692-XX-XX.

33



maEHESL  HOSE FITTING

A
™ 7y 10711
] AULAR - IR ABISMRL 74° 14
g1 m METRIC MALE
74°CONE
(A 1B E ® i R o
ISR = B A C S1
10711-10-02 M10X1 4 02 23 125 14
10711-10-03 M10X1 5 03 23 125 14
10711-12-03 M12X1.5 5 03 26.5 15.7 14
10711-12-03C M12X1.25 5 03 245 14 14
10711-14-04 M14X1.5 6 04 305 18 17
10711-14-06 M14X1.5 10 06 305 18 17
10711-16-05 M16X1.5 8 05 315 19 17
10711-16-06 M16X1.5 10 06 315 19 17
10711-18-06 M18X1.5 10 06 32 19 19
10711-22-08 M22X1.5 12 08 345 195 24
10711-24-08 M24X1.5 12 08 36.5 20 27
10711-27-10 M27X1.5 16 10 39 205 30
10711-30-12 M30X2 20 12 425 23 32
10711-30-12E M30X2 20 12 455 26 32
10711-33-12 M33X2 20 12 46.5 26 36
10711-36-14 M36X2 22 14 47 26 38
10711-39-16 M39X2 25 16 50 275 41
10711-42-20 M42X2 32 20 525 28.5 46
10711-45-20 M45X2 32 20 525 285 46
1 EIRAS S A TR, 2. WFEATEERENS 79 10712-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER 1S10712-XX-XX.




W i’;é%

HOSE FITTING

-..5;\

T[T
-

N

4"

1

[

[EI BRIl NR 2 74° NEE
METRIC FEMALE 74°CONE SEAT

NOTE

1. FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 20712-XX-XX.

2.

20711 20711-T

R = 1B E 74 (=4 R <F
AHRNEE | R & A C S2
20711-10-02 M10X1 4 02 14 75 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 15 10 17
20711-14-04 M14X1.5 6 04 16 8.5 19
20711-14-05 M14X1.5 8 05 155 | 85 19
20711-14-06 M14X1.5 10 06 155 | 85 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 17 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 M18X1.5 10 06 185 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 185 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 19.5 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 16.5 11 30
20711-27-08T M27X1.5 12 08 185 11 32
20711-27-10T M27X1.5 16 10 21 11 32
20711-27-12 M27X1.5 20 12 215 11 32
20711-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 22 11 36
20711-33-10T M33X2 16 10 195 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 215 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 24 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 25 14 46
20711-42-16T M42X2 25 16 235 15 50
20711-42-20W M42X2 32 20 245 15 50
20711-45-20T M45X2 32 20 27 15 55
20711-52-24T M52X2 40 24 27 17 60

A L ERREHTFRARE., 20 WA TESE NS R 20712-XX-XX,

IF USE WITH SPIRAL HOSES




maEHESL  HOSE FITTING

20741

45° PRl NBREL 74° PNHE
45°METRIC FEMALE 74°CONE SEAT

E, i R

i BRI E SN | bR = A c H 52

23

20741-14-04 ML4X15 6 04 38 85 19 19
20741-16-05 M16X15 8 05 423 8 207 | 2
20741-18-06 M18X15 10 06 455 | 10 22 24
20741-22-08 M22X15 12 08 575 | 10 | 245 | 27
20741-27-10 M27X15 16 10 60 11 | 265 | 32
20741-30-12 M30X15 20 12 74 11 30 36
20741-33-12 M33X2 20 12 774 | 13 30 41
20741-33-16 M33X2 25 16 85 13 | 308 | 41
20741-36-14 M36X2 22 14 798 | 14 | 296 4
20741-36-16 M36X2 25 16 85.7 14 | 315 | 4
20741-30-16 M39X2 25 16 85 14 33 46
20741-45-20W M45X2 2 20 97 15 | 362 | 55
20741-52-24W M52X2 40 24 1153 | 17 | 409 | 60

L ERREHTRARE, 20 MFEHTESRENRS R 20742-x¢-xX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20742-XX-XX.




maEHESL  HOSE FITTING

20791

00° [EPRRAHINMEZ 74° NEEH
90°METRIC FEMALE 74°CONE SEAT

. 7 R

s BRI E AN | A B A c H 2
£

20791-12-04C M12X1.25 6 04 30 9 B5 | 17
20791-12-04 M12XL5 6 04 30 10 | 335 | 17
20791-14-04 ML4X15 6 04 2715 | 85 34 19
20791-16-04 ML6XL5 6 04 30 8 35 22
20791-16-05 M16XL5 8 05 31 8 395 | 22
20791-18-06 M18XL5 10 06 33 10 42 24
20791-22-08 M22X15 12 08 25 | 10 | 495 | 27
20791-22-10 M22X15 16 10 56 10 | 525 | 27
20791-27-10 M27XL5 16 10 85 | 11 | 545 | 32
20791-30-12 M30XL5 20 12 505 11 | 635 | 36
20791-33-12 M33X2 20 12 655 | 13 | 635 | 41
20791-33-16 M33X2 25 16 66 18 | 755 | 41
20791-36-12 M36X2 20 12 655 | 124 | 635 | 41
20791-36-14 M36X2 22 14 712 | 14 | e45 | 41
20791-39-16 M39X2 25 16 66 14 | 765 | 46
20791-45-20W M45X2 32 20 o5 | 15 83 55
20791-52-20W M52X2 32 20 93 17 | 845 | 60
20791-52-24W M52X15 40 24 1107 | 17 | 95 | 60

L B RS TRARE .
NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER IS 20792-XX-XX.

2. M0 TRGRER

79 20792-XX-XX,
2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

37



maEHESL  HOSE FITTING

ag-

A

i

A %W

10811L

INHISMEREL 90°  HhE

(>'é I
\U 1 METRIC MALE
90°CONE
(A= i85 E m =4 N ~F
N NAEES & A C H S2
10811L-12-04 M12X1.5 6 04 46 34 17 17
10811L-12-04A M12X1 6 04 445 | 325 17 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 465 | 34 17 19
10811L-16-04 M16X1.5 6 04 465 34 19 22
10811L-16-06 M16X1.5 10 06 465 | 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 625 | 45 27 27




sl HOSE FITTING

38



maEHESL  HOSE FITTING

A

ey

R

el
1

o

SN

SES

NI IR ER 1

METRIC FEMALE MULTISEAL

20111 20111-T

R = 2 E 2 E R ~f
AFRNER R 5 A C S2

20111-10-03 M10X1 5 03 18 25 14
20111-10-04 M10X1 6 04 18 25 14
20111-12-04 M12X1.5 6 04 185 4 17
20111-12-05 M12X1.5 8 05 185 4 17
20111-14-04 M14X1.5 6 04 20 45 19
20111-14-05 M14X1.5 8 05 195 45 19
20111-16-04 M16X1.5 6 04 205 | 45 22
20111-16-05 M16X1.5 8 05 20.5 45 22
20111-16-06 M16X1.5 10 06 20 45 22
20111-18-05T M18X1.5 8 05 215 4 24
20111-18-06 M18X1.5 10 06 225 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 235 | 55 24
20111-20-08 M20X1.5 12 08 23 55 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 245 5 27
20111-22-10 M22X1.5 16 10 245 5 27
20111-24-08T M24X1.5 12 08 22 55 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 55 32
20111-27-10DT M27X1.5 16 10 26 55 32
20111-27-12D M27X1.5 20 12 26 55 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 34 7 46
20111-42-16T M42X2 25 16 30 85 50
20111-45-20T M45X2 32 20 315 | 85 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

T L Rl Os T YRR,

NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER IS 20112-XX-XX.

2. TN TEFRENS

R 20112-XX-XX,

2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

39




maEHESL  HOSE FITTING

45° NIl NHREER

45<=METRIC  FEMALE MULTISEAL
20141 20141-T
(V=2 2 E L/ (1 R ~F

ISR R A C H S2

20141-10-03 M10X1 5 03 411 | 25 | 207 14
20141-10-04 M10X1 6 04 432 | 25 | 215 14
20141-12-03 M12X1.5 5 03 40.9 4 21.2 17
20141-12-04 M12X1.5 9 04 43 4 22 17
20141-14-04 M14X1.5 6 04 434 | 45 | 213 19
20141-14-05 M14X1.5 8 05 455 | 45 | 222 19
20141-16-04 M16X1.5 6 04 447 | 45 | 232 22
20141-16-05 M16X1.5 8 05 45.8 45 | 225 | 22
20141-16-06 M16X1.5 10 06 474 | 45 | 241 22
20141-18-05T M18X1.5 8 05 46.8 4 226 | 24
20141-18-06 M18X1.5 10 06 485 4 24.2 24
20141-18-08 M18X1.5 12 08 52.2 4 25.7 24
20141-20-06T M20X1.5 10 06 482 | 55 | 239 27
20141-20-08 M20X1.5 12 08 621 | 55 | 272 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27
20141-22-08 M22X1.5 12 08 62.1 5 27.2 27
20141-24-08T M24X1.5 12 08 611 | 55 | 26.1 30
20141-24-10 M24X1.5 16 10 75.4 5 296 | 30
20141-27-10DT M27X1.5 16 10 744 | 55 | 296 32
20141-27-10T M27X2 16 10 744 | 55 | 296 | 32
20141-30-12D M30X1.5 20 12 80.9 6 335 36
20141-30-12 M30X2 20 12 80.9 6 335 | 36
20141-36-14T M36X2 22 14 83 7 | 3264 41
20141-39-16T M39X2 25 16 88.2 7 | 3395 | 46
20141-45-20T M45X2 32 20 9.1 | 85 | 384 | 55
20141-52-24T M52X2 40 24 114.1 9 434 | 60

T L RS TR,

NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER IS 20142-XX-XX.

2. WMFERTEFZRENS

N 20142-XX-XX,
2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

40



sl HOSE FITTING

90° ATl RS ER

90° METRIC FEMALE MULTISEAL

_ " & R ~F

() WAL E % o o A C H >
20191-10-03 M10X1 7 5 03 27 25 355 14
20191-12-04 M12X1.5 6 04 30 4 37.5 17
20191-14-04 M14X1.5 6 04 27.5 45 38 19
20191-14-05 M14X1.5 8 05 ot 45 41 19
20191-16-04 M16X1.5 6 04 27.5 45 38.5 19
20191-16-05 M16X1.5 8 05 31 4.5 43 22
20191-16-06 M16X1.5 10 06 35.3 45 438 22
20191-18-05T M18X1.5 8 05 31 4 43 24
20191-18-06 M18X1.5 10 06 35.3 4 453 24
20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
20191-20-06T M20X1.5 10 06 35.3 55 438 24
20191-20-08 M20X1.5 12 08 41 55 52 27
20191-22-06T M22X1.5 10 06 35.8 5 76.8 27
20191-22-08 M22X1.5 12 08 425 5 54.5 27
20191-24-08T M24X1.5 12 08 41 5.5 51 30
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191-27-10T M27X2 16 10 56 55 55.5 32
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 4
20191-39-16T M39X2 25 16 76.7 7 73.5 14
20191-45-20T M45X2 32 20 91.5 8.5 85 655
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131.75 14 | 122.3 75

TR L RO TRRRE
NOTE : 1. FOR USE WITH BRAIDED HOSES
NUMBER IS 20192-XX-XX.

2. WFEMTESRENRS

79 20192-XX-XX,

2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

41



maEHESL  HOSE FITTING

4 50011
_H. Ol ENEE
= [ DIN2353
o = METRIC STANDPIPE STRAIGHT
o s " & R = "
R = B 14MED preT e A c &
%

50011-06-03 6 5 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 325 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 355 25

50011-15-08 15 12 08 355 25 277
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 ot 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 33 26
50011-12-04 12 6 04 345 26
50011-12-05 12 8 05 355 26
50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29

50011-14-12 14 20 12 45.5 29 e
50011-16-08 16 12 08 40.5 30
50011-16-10 16 16 10 45.5 30
50011-20-10 20 16 10 52 36
50011-20-12 20 20 12 52.5 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50

L B ROSH TRAE .
NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER IS 50012-XX-XX.

2. WFHHTREERERS
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

9 50012-XX-XX,

42



maEHESL  HOSE FITTING

50091

90° Al FEXNEE

90 < METRIC STANDPIPE STRAIGHT
DIN2353
& B F4MED "_#® R &
/N NS =2 A C H
50091-06-03 6 5 03 265 2 425
50091-06-04 6 6 04 30 2 455
50091-08-05 8 8 05 33 2% 505
50091-08-06 8 10 06 353 2 52.8
50091-10-05 10 8 05 33 23 495
50091-10-06 10 10 06 353 23 51.8
50091-12-06 12 10 06 35.36 23 53.8
50091-12-08 12 12 08 4 23 59
50091-15-06 15 10 06 35.3 25 53.8 ==l
50091-15-08 15 12 08 4 25 59
50091-18-08 18 12 08 4 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 655 28 76
50091-22-16 2 25 16 76.7 28 815
50091-28-16 28 25 16 76.7 30 835
50091-35-20 35 2 20 03 36 100.5
50091-08-04 8 6 04 30 2 475
50091-10-04 10 6 04 30 26 495
50091-12-04 12 04 30 26 495
50091-12-05 12 8 05 33 26 525
50091-14-06 14 10 06 353 29 57.8
50091-14-08 14 12 08 4 29 63
50091-16-08 16 12 08 4 30 64
50091-16-10 16 16 10 56.5 30 68.5 ]
50091-20-10 20 16 10 56.5 36 745
50091-20-12 20 20 12 655 36 85
50091-25-12 25 20 12 655 40 89
50091-25-16 25 25 16 76.7 40 935
50091-30-16 30 25 16 76.7 40 935
50091-30-20 30 2 20 915 44 108.5
50091-38-16 38 25 16 76.7 50 1155
50091-38-20 38 32 20 915 50 1145

L ERRSHTRARE., 20 WIRHATESZRENS
NOTE : 1. FOR USE WITH BRAIDED HOSES

NUMBER 1550092-XX-XX.

N 50092-XX-XX,

2. IFUSE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

43



maEHESL  HOSE FITTING

e 51011
QL Bilsinniiinm R AR
S =
= BSP STANDARD PIPE
K B | BrAED " & R
AE | B Al c
51011-04-03 4 5 27 17
51011-06-03 6 5 30.5 19
51011-06-04 6 6 31 19
51011-08-04 8 6 31 19
51011-08-05 8 8 315 19
51011-08-06 8 10 32 19
51011-10-04 10 6 35 22
51011-10-05 10 8 35 22
51011-10-06 10 10 35 22
51011-12-05 12 8 35 22
51011-12-06 12 10 35 22
51011-14-06 14 10 35 22
51011-14-08 14 12 355 22
51011-16-06 16 10 35 22
51011-16-08 16 12 36 22
51011-16-10 16 16 36.5 22
51011-16-12 16 20 38 22
51011-18-12 18 20 415 24
51011-22-12 22 20 45 28
51011-22-14 22 22 45 28
51011-28-16 28 25 49 30
51011-34-20 34 32 53 33
51011-42-24 42 40 57 35

L RS A TRRARAE,
NOTE : 1. FOR USE WITH BRAIDED HOSES
SERIES NUMBER 1551012-XX-XX.

2. WMTEATEERENS
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

79 51012-XX-XX,




maEHESL  HOSE FITTING

51091

90° EPfrFEXEE

90°BSP STANDARD PIPE

' R ~

R A © H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 6 04 30 19 42.5
51091-08-05 8 05 33 19 455
51091-10-04 10 6 04 30 22 455
51091-10-06 10 10 06 35.8 22 | 50.8
51091-12-06 12 10 06 35.3 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 7
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113

L ERRSH TRARE., 20 MTEATESRENS A 51092-X%-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 51092-XX-XX.




maEHESL  HOSE FITTING

C
” NL
3 h= NS
: RETAINING NUT L.T.
IR
o % IR E B R %R
C D S2 MPa
NL-12 M12X1.5 14.5 14
NL-14 M14X1.5 14.5 17
NL-16 M16X1.5 10 155 10 19
NL-18 M18X1.5 12 155 12 22 o
2751
NL-22 M22X1.5 15 17 15 27 L
NL-26 M26X1.5 18 18 18 32
NL-30 M30X2 22 20 22 36
NL-30D M30X1.5 22 19 22 36
NL-36 M36X2 28 21 28 41
NL-36D M36X1.5 28 21 28 41
NL-45 M45X2 35 24 35 50
NL-45D M45X1.5 35 25 35 50
NL-52 M52X2 42 24 42 60
NS-14 M14X1.5 6 16.5 6 17
NS-16 M16X1.5 8 16.5 8 19
NS-18 M18X1.5 10 17.5 10 22
NS-20 M20X1.5 12 17.5 12 24 BRI
NS-22 M22X1.5 14 20.5 14 27 >
NS-24 M24X1.5 16 20.5 16 30
NS-30 M30X2 20 24 20 36
NS-36 M36X2 25 27 25 46
NS-42 M42X2 30 29 30 50
NS-52 M52X2 38 32.5 38 60

46



maEHESL  HOSE FITTING

A
c
ey -

LI

12211

BSP MALE O-RING SEAL

JEE SR O TR E

(A= E1IMED ® 1 O JEI R <F
IANFRNER R A C H

12211-04-04 G1/47°X19 6 04 24 11 19
12211-04-06 G1/47°X19 10 06 235 11 19
12211-06-06 G3/8”X19 10 06 26 12 22
12211-08-04 G1/2°X14 6 04 335 14 27
12211-08-06 G1/2°X14 10 06 335 14 27
12211-08-08 G1/27X14 12 08 30 14 27
12211-10-10 G5/87X14 16 10 34 | 155 30
12211-12-10 G3/47X14 16 10 35 | 155 32
12211-12-12 G3/47X 14 20 12 35 | 155 32
12211-12-16 G3/47X14 25 16 36 | 155 32
12211-16-16 G17X11 25 16 41 | 185 | 41
12211-20-20 G1.1/4°X11 32 20 45 20 50

L ERRS A TRARE, 20 IR TESRENRS 8 12212-x¢xx,
NOTE :1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 12212-XX-XX.




maEHESL  HOSE FITTING

A
. O
NN T 12611
o =l
' LI BSP MALE 60°CONE SEAT
B AR 60° N

" = E D w & R F
INFRNEER R 5 A C S1

12611-02-03 G1/87X28 5 03 22 10 12
12611-04-04 G1/47X19 6 04 24 12 14
12611-06-05 G3/87X19 8 05 26 135 17
12611-06-06 G3/87X19 10 06 26 135 17
12611-06-08 G3/87X19 12 08 26.5 135 19
12611-08-06 G1/27X14 10 06 30.5 16 22
12611-08-08 G1/27°X14 12 08 30.5 16 22
12611-10-08 G5/87X14 12 08 325 175 24
12611-10-10 G5/87X14 16 10 34 17.5 24
12611-12-08 G3/4°X14 12 08 355 18.5 27
12611-12-10 G3/47X14 16 10 37 18.5 27
12611-12-12 G3/4”X14 20 12 36 185 27
12611-16-12 G17X11 20 12 40.5 20.5 36
12611-16-16 G17X11 25 16 425 205 36
12611-20-16 G1.1/4°X11 25 16 435 20.5 46
12611-20-20 G1.1/47°X11 32 20 445 205 46
12611-24-20 G1.1/27X11 32 20 49 23 50
12611-24-24 G1.1/27X11 40 24 49 23 50
12611-32-32 G27X11 50 32 545 255 65

T L RS TREARE,

NOTE

2. WMEATESERENS
1. FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER 1512612-XX-XX.

2.

79 12612-XX-XX,

IF USE WITH

SPIRAL HOSES

48



S —HOSEFTFFING
b 12611A
] :[g? G MR 60°  PNEE MBS A i
i s mABs  HEEENHESL
= T BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDED SEAL
(A= BEIHED ® & R <F
AFRNER e A C S1
12611A-02-03 G1/87X28 5 03 22 10 14
12611A-04-04 G1/4°X19 6 04 25 12 19
12611A-04-05 G3/8”X19 8 05 25 12 19
12611A-06-05 G3/8”X19 8 05 26 | 135 | 22
12611A-06-06 G3/8”X19 10 06 275 | 135 | 22
12611A-06-08 G3/87X19 12 08 285 | 135 | 22
12611A-08-06 G1/2°X14 10 06 33 16 27
12611A-08-08 G1/2°X14 12 08 32 16 27
12611A-08-10 G1/2°X14 16 10 32 16 27
12611A-10-08 G5/87X14 12 08 35 | 175 | 30
12611A-10-10 G5/8”X14 16 10 36 | 175 | 30
12611A-12-08 G3/47X 14 12 08 365 | 185 | 32
12611A-12-10 G3/47X 14 16 10 375 | 185 | 32
12611A-12-12 G3/47X 14 20 12 38 | 185 | 32
12611A-16-12 G17X11 20 12 425 | 205 | 41
12611A-16-16 GI1”X11 25 16 43 | 205 | 41
12611A-20-16 G1.1/4°X11 25 16 455 | 205 | 50
12611A-20-20 G1.1/4°X11 32 20 455 | 205 | 50
12611A-24-24 G1.1/2°X11 40 24 50 23 55
12611A-32-32 G27X11 50 32 545 | 255 | 70
L ER R EHATREARE, 20 FATESYENRS A 12612A-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 12612A-XX-XX.




sk

HOSE FITTING

) m S e
-
22611-T 22611—W
HE NIRZ 60° 44
&1 BSP FEMALE
(A= BTHED LYY H R <F
INPRNEE & A C S2
22611-02-03 G1/8”X28 5 03 15 5.5 14
22611-02-04 G1/87X28 6 04 175 | 55 14
22611-04-03 G1/47°X19 5 03 17 5.5 19
22611-04-04 G1/47°X19 6 04 19 5.5 19
22611-04-05 G1/47X19 8 05 19 5.5 19
22611-04-06 G1/47X19 10 06 19 5.5 19
22611-06-04 G3/8”X19 6 04 21 6.3 22
22611-06-05 G3/8”X19 8 05 21 6.3 22
22611-06-06 G3/87X19 10 06 21 6.3 22
22611-06-08 G3/87X19 12 08 215 | 63 22
22611-08-06T G1/2°X14 10 06 21 75 27
22611-08-08 G1/27X14 12 08 23 75 27
22611-10-08 G5/8”X14 12 08 235 | 95 30
22611-10-10 G5/87X14 16 10 245 | 95 30
22611-12-08T G3/47X 14 12 08 22 | 109 32
22611-12-10 G3/47X14 16 10 245 | 10.9 32
22611-12-12 G3/47X14 20 12 245 | 109 32
22611-16-12T GI17X11 20 12 24 | 117 | 4
22611-16-14 G17X11 22 14 26 | 11.7 41
22611-16-16 GI”X11 25 16 275 | 117 | 41
22611-20-16T G1.1/4°X11 25 16 275 11 50
22611-20-20W G1.1/4°X11 32 20 305 11 50
22611-24-20T G1.1/27X11 32 20 32 13 55
22611-24-24W G1.1/2°X11 40 24 32 13 55
22611-32-24T G27X11 40 24 30 16 70
22611-32-32W G27X11 50 32 31.9 16 70
A L ERRE A TRARE, 20 WEATESPENS 8 22612-xx-XX,

NOTE 1. FOR USE WITH BRAIDED HOSES 2.
HOSE FITTINGS SERIES NUMBER IS 22612-XX-XX.

IF USE WITH SPIRAL HOSES ,




maEHESL  HOSE FITTING

L b
| ./;3“/7 X A s
3@“ | T 22611D
—~ A INBEZL 60° AT PUS £
BSP FEMALE 60°CONE DOUBLE HEXAGON
A= EFIMED /Y (=3 R ~t
INFRNE ¥R 5 A C S1 S2
22611D-04-04 G1/47°X19 6 04 245 | 55 19 19
22611D-06-06 G3/87X19 10 06 27 6.3 22 22
22611D-08-08 G1/2°X14 12 08 305 | 75 27 27
22611D-10-08 G5/87X14 12 08 31 95 30 30
22611D-12-08 G3/47X14 12 08 315 | 109 32 32
22611D-12-12 G3/47X14 20 12 345 | 109 32 32
22611D-16-16 G17X11 25 16 385 | 11.7| 41 41
22611D-20-20W | G1.1/4”X11 32 20 44 11 50 50
L B S FREAE, 2. WMEHTFESRYEN S K 22612D-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS 22612D-XX-XX.
[ A
| .-//I}J; i P s
el I
N A NMR LT 60° SMEE RS F
BSP FEMALE 60°CONE DOUBLE HEXAGON
AV - BETHMED Y =g R ~f
INFRNER = A C S1 S2
22611D-04-04SM G1/47X19 6 04 235 | 55 12 19
22611D-06-065M G3/87X19 10 06 245 | 63 17 2
22611D-08-08SM G1/27X14 12 08 29 75 22 27
22611D-10-08SM G5/87X14 12 08 29 95 22 30
22611D-12-08SM G3/4”X14 12 08 315 | 109 27 32
22611D-12-12SM G3/47°X14 20 12 335 | 109 27 32
22611D-16-165M G17X11 25 16 355 | 11.7 | 32 41
22611D-20-20SM | G1.1/4”X11 32 20 42 11 41 50
L ERREATREARE, 2. WEHTESPERS H 22612D-xx-XXSM.,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS 22612D-XX-XXSM.




sk HOSEFITTING

22641 22641-T 22641-W
45° GRENHRALL 60° ShiE
ii]
45°BSP FEMALE 60°CONE
(A= ET1HMED L/ 1 R <F
MNHENEE | fR & A C H S2
22641-04-04 G1/4°X19 6 04 40 55 21 19
22641-06-04 G3/87X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8”°X19 8 05 45.3 6.3 22 22
22641-06-06 G3/87X19 10 06 47 6.3 24 22
22641-08-06T G1/27X14 10 06 48.1 75 239 27
22641-08-08 G1/27X14 12 08 59.5 7.5 27 27
22641-10-08 G5/87X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/87X14 16 10 63 9.5 29 30
22641-12-08T G3/4°X14 12 08 61.8 10.9 26.9 32
22641-12-10 G3/47X14 16 10 63 10.9 29 32
22641-12-12 G3/47X14 20 12 75.5 10.9 32 32
22641-16-12T G17X11 20 12 80.8 11.7 334 41
22641-16-16 G17X11 25 16 86 11.7 34 41
22641-20-16T G1.1/4°X11 25 16 85.3 11 31.1 50
22641-20-20W G1.1/4”X11 32 20 98.8 11 38 50
22641-24-24\WN G1.1/2°X11 40 24 116.8 13 45.5 55
22641-32-32W G27X11 50 32 135.7 16 52.7 70
L RS T REARE 2. WFEHATESRERS N 22642-XX-XX,
NOTE : 1. FOR USE WlTH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS 22642-XX-XX.

52



sl HOSE FITTING

22691-T 22691-W

90° A NHRZL 60° AhHE

ii}

90°BSP FEMALE 60°CONE

(A= HHED £ H R =F
INRNER R 5 A |C H S2

22691-02-03 G1/87X28 5 03 265 | 55 | 315 14
22691-02-04 G1/87X28 6 04 275 | 55 | 355 14
22691-04-03 G1/4°X19 5 03 265 | 55 | 335 19
22691-04-04 G1/47°X19 6 04 275 | 55 37 19
22691-04-05 G1/47X19 8 05 31 55 | 415 19
22691-04-06 G1/47X19 10 06 30 55 | 36.5 19
22691-06-04 G3/8”X19 6 04 275 | 63 39 22
22691-06-05 G3/8”X19 8 05 31 6.3 | 435 22
22691-06-06 G3/8”X19 10 06 33 6.3 | 445 22
22691-08-06T G1/2°X14 10 06 35.3 7 43.3 27
22691-08-08 G1/27X14 12 08 425 | 75 53 27
22691-08-10 G1/27X14 16 10 565 | 75 | 555 27
22691-10-08 G5/87X14 12 08 425 | 95 | 535 30
22691-10-10 G5/8”X14 16 10 485 | 95 58 30
22691-12-08T G3/47X14 12 08 41 | 109 | 52.1 32
22691-12-10 G3/47X14 16 10 485 | 109 | 58 32
22691-12-12 G3/47X14 20 12 505 | 10.9 66 32
22691-16-12T G17X11 20 12 655 | 11.7 | 68.3 41
22691-16-14 G17X11 22 14 712 | 117 | 69.3 41
22691-16-16 G17X11 25 16 66 | 117 | 785 41
22691-20-16T | G1.1/47X11 25 16 78 11 | 695 50
22691-20-20W | G1.1/4”X11 32 20 915 | 11 | 843 50
22691-24-24W | G1.1/2”X11 40 24 109.4 | 13 103 55
22691-32-32W G27X11 50 32 1318 | 16 | 1233 | 70

53



maEHESL  HOSE FITTING

L ERUSHTRARE. 20 WA TESRENRS
NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 22692-XX-XX.

2.

K 22692-XX-XX,
IF USE WITH SPIRAL HOSES

54



maEHESL  HOSE FITTING

22691 K

BSP FEMALE CONE DOUBLE HEXAGON

00° LB B PNMELL 60° A&

R 5 EFIMED L4 & R

Ay NAEES R A C H S1 S2
22691K-04-04 G1/47X19 04 175 | 55 | 185 11 19
22691K-06-04 G3/8”X19 04 20 6.3 24 16 22
22691K-06-05 G3/87X19 05 20 6.3 24 16 22
22691K-06-06 G3/87X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/27X14 10 06 23 75 | 285 19 27
22691K-08-08 G1/27X14 12 08 235 | 75 | 285 19 27
22691K-10-10 G5/87X14 16 10 245 | 95 | 305 22 30
22691K-12-12 G3/47X14 20 12 275 | 109 | 33 27 32
22691K-16-16 G17X11 25 16 43 | 11.7 | 385 33 41

LR TREARE., 20 WM TESRENS

NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 22692K-XX-XX.

K 22692K-XX-XX
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

55



maEHESL  HOSE FITTING

z

4

=2

2]
-

Y
Lo -

.|

)

wuuuum ﬁ%_muuuuum. " #imuuuuuuup
e a2 =
22111 22111-T 22111-W
B PR LER TR
BSP FEMALE MULTISEAL

R = WL E N " R <F
SRR R & A C S2
22111-02-04 G1/87X28 6 04 19 2 14
22111-04-03 G1/47X19 5 03 19 4 19
22111-04-04 G1/47X19 6 04 20.5 4 19
22111-06-05 G3/8”X19 8 05 20 5 22
22111-06-06 G3/87X19 10 06 22.5 5 22
22111-06-08 G3/8”X19 12 08 21 5 22
22111-08-06T G1/2°X14 10 06 22.5 6 27
22111-08-08 G1/2°X14 12 08 25.5 6 27
22111-08-10 G1/2°X14 16 10 24 6 27
22111-10-10 G5/87X14 16 10 26 8 30
22111-10-12 G5/8”X14 20 12 25 8 30
22111-12-08T G3/47X14 12 08 25 | 95 32
22111-12-10 G3/47X14 16 10 26 | 95 32
22111-12-12 G3/47X14 20 12 26 | 95 32
22111-16-12T G17X11 20 12 265 | 11 4
22111-16-14 G17X11 22 14 265 | 11 4
22111-16-16 G17X11 25 16 285 | 11 M
22111-20-16T G1.1/4°X11 25 16 275 | 11 50
22111-20-20W G1.1/47°X11 32 20 315 | 10 50
22111-24-24W G1.1/2°X11 40 24 37 | 115 | 55
22111-32-32W G27X11 50 32 34 15 70

T L RS TRRRE

NOTE : 1. FOR USE WITH BRAIDED HOSES
NUMBER IS 22212-XX-XX.

2. WFEMTESRENRS

H 22212-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

56




maEHESL  HOSE FITTING

22141 22141-T 22141-W
45° HurE NIRSTER
45°BSP FEMALE MULTISEAL
N = WL E X i1 R ~F

INFRNER &5 A C H S2
22141-02-04 G1/87X28 04 43.7 2 21.6 14
22141-04-03 G1/47X19 03 41.3 4 20.4 19
22141-04-04 G1/47X19 04 43.7 4 21.6 19
22141-06-05 G3/8”X19 8 05 46.2 5 22.9 22
22141-06-06 G3/8”X19 10 06 48.1 5 23.9 22
22141-06-08 G3/87X19 12 08 60.4 5 254 | 22
22141-08-04T G1/27X14 6 04 43.9 6 238 27
22141-08-06T G1/27X14 10 06 425 6 18.2 27
22141-08-08 G1/27X14 12 08 61.8 6 26.8 27
22141-08-10 G1/27X14 16 10 73 6 29 27
22141-10-10 G5/87X14 16 10 737 8 28.9 30
22141-10-12 G5/8”X14 20 12 79.8 8 325 30
22141-12-08T G3/47X 14 12 08 632 | 95 | 283 32
22141-12-10 G3/47X14 16 10 704 | 95 | 296 | 32
22141-12-12 G3/47X14 20 12 806 | 95 | 332 32
22141-16-12 G17X11 20 12 81.6 11 | 335 | 41
22141-16-14 G17X11 22 14 83.3 11 33 41
22141-16-16 G17X11 25 16 89.2 11 35 41
22141-20-16T | G1.1/4”X11 25 16 914 | 91 | 371 50
22141-20-20W | G1.1/4”X11 32 20 102.9 | 10 | 41.2 50
22141-24-24W | G1.1/2”X11 40 24 119.8 | 115 | 49 55
22141-32-32W G27X11 50 32 1374 | 15 53 70

TR L RO TRRRE

2. T TEGRENRS
NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER 1522142-XX-XX.

) 22142-XX-XX,
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

57



BEHSL HOSEFITTING

22191 22191-T 22191-W
90° /& NIRSUER

90°BSP FEMALE MULTISEAL

(A WAL E =" i R ~F
INFRNER S A C H S2
22191-02-04 | G1/8”X28 6 04 30 2 38 14
22191-04-03 | G1/4”X19 5 03 27 4 35 19
22191-04-04 G1/4°X19 6 04 30 4 38 19
22191-04-05 G1/4”X19 8 05 33 4 41.5 19
22191-06-05 G3/87X19 8 05 33 5 42 22
22191-06-06 G3/8”X19 10 06 35.3 5 443 22
22191-06-08 G3/87X19 12 08 41 5 50 22
22191-08-06T G1/27X14 10 06 35.3 6 46.8 27
22191-08-08 | G1/27X14 12 08 41 6 | 525 | 27
22191-10-10 G5/87X14 16 10 56.5 8 57.5 30
22191-10-12 | G5/87X14 20 12 65.5 8 67 30
22191-12-08T G3/47X14 12 08 41 9.5 52 32
22191-12-10 G3/4°X14 16 10 56.5 95 | 585 32
22191-12-12 | G3/47X14 20 12 655 | 95 | 68 32
22191-16-12T G17X11 20 12 662 | 11 | 685 | 41
22191-16-14 G17X11 22 14 712 | 11 | 695 | 41
22191-16-16 G17X11 25 16 76.7 | 11 75 41
22191-20-16T | G1.1/47X11 25 16 76.7 10 78 50
22191-20-20W | G1.1/4”X11 32 20 923 | 10 | 853 | 50
22191-24-24W | G1.1/2"X11 40 24 109.4 | 115 | 108 | 55
22191-32-32W G27X11 50 32 133.1 | 15 123.8 70
L ERRSHTRARE, 20 MEHTESKENS 7 22192-xx-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS 22192-XX-XX.

58



% 13011-SP
| e SRR
%E:\ﬂ];lfﬂ | BSP MALE

(V=2 W25 E L7 & R ~F
ISR R 5 A C s1

13011-02-03SP R1/87X28 5 03 22 10 12
13011-02-04SP R1/87X28 6 04 225 10 12
13011-04-04SP R1/4”X19 6 04 27 | 145 | 14
13011-04-05SP R1/47X19 8 05 25 | 154 | 14
13011-04-06SP R1/47X19 10 06 27 | 145 | 17
13011-06-04SP R3/87X19 6 04 275 15 17
13011-06-05SP R3/8”X19 8 05 26.5 15 17
13011-06-06SP R3/8”X19 10 06 275 15 17
13011-06-08SP R3/87X19 12 08 30 15 19
13011-08-06SP R1/27X14 10 06 345 20 22
13011-08-08SP R1/27X14 12 08 35 20 22
13011-08-10SP R1/27X14 16 10 38 20 22
13011-08-12SP R1/27X14 20 12 38 20 27
13011-12-08SP R3/47X14 12 08 37 20 27
13011-12-10SP R3/47X14 16 10 38 20 27
13011-12-12SP R3/47X14 20 12 385 | 20 27
13011-12-16SP R3/47X14 25 16 395 20 32
13011-16-12SP R17X11 20 12 4 | 255 | 36
13011-16-16SP R17X11 25 16 45 | 255 | 36
13011-20-20SP | R1.1/47X11 32 20 495 | 265 | 46
13011-24-24SP | R1.1/27X11 40 24 525 | 265 | 50
13011-32-24SP R27X11 40 24 57 |30 65
13011-32-32SP R2”X11 50 32 59 |30 65

L RS HTRARE, 20 WHHTESRENRS 7 13012-xx-xxSP,
NOTE :1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 13012-XX-XXSP.




maEHESL  HOSE FITTING

-

I

14211

Eifil ORFS #MALOEm 0 TR

1T
1SO 8434-3—SAE J1453
S1 ORFS MALE O-RING SEAL
% ALY E wo 0 I R+t
NN =2 A |C S1
14211-04-04 9/167X18 6 04 0011 23 |98 | 17
14211-06-04 | 11/16°X16 6 04 0012 242 | 112 | 19
14211-06-06 11/167X16 10 06 0012 242 |112 | 19
14211-08-06 13/167X16 10 06 0014 268 |128 | 22
14211-08-08 13/16°X16 12 08 0014 273 | 128 | 22
14211-08-10 13/16"X16 16 10 0014 285 | 128 | 22
14211-10-08 17X 14 12 08 0016 315 | 155 | 27
14211-10-10 17X 14 16 10 0016 33 | 155 | 27
142111208 | 1.3/167X12 12 08 0018 365 | 17 | 32
142111210 | 1.3/167X12 16 10 0018 6 | 17 | 32
14211-12-12 | 1.3/16°X12 20 12 0018 365 | 17 | 32
14211-16-12 | 1.7/16°X12 20 12 0021 37 | 175 | 38
14211-16-16 | 1.7/16"X12 25 16 0021 395 | 175 | 38
142112020 | 1.11/167X12 32 20 0025 415 | 175 | 46
14211-24-24 27X12 40 2 0029 45 | 175 | 55
L B S FRATE, 2. WMFEHTFRESEYENS K 14212-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 14212-XX-XX.

60



Mg RESL HOSE FITTING

C A L 4 C A

[ [T e oy
e || 1| o

24211 24211-T 24211-W
%l ORFS PRI E-iH
ORFS FEMALE FLAT SEAT
1ISO 12151-1—SAE J516
% WAL E w® N
IFREE 5 ol B
24211-04-04 9/16”X18 6 04 255 |85 19
24211-04-05 9/167X18 8 05 225 | 85 19
24211-04-06 9/16”X18 10 06 225 | 85 19
24211-06-04T 11/16”X16 6 04 235 |10 22
24211-06-05T 11/167X16 8 05 235 |10 22
24211-06-06 11/167X16 10 06 265 |10 22
24211-06-08 11/167X16 12 08 26 10 22
24211-08-05T 13/167X16 8 05 25 11 27
24211-08-06T 13/167X16 10 06 24.5 11 27
24211-08-08 13/167X16 12 08 28 11 27
24211-08-10 13/167X16 16 10 29 11 27
24211-10-08T 17X14 12 08 29 13.5 30
24211-10-10 17X14 16 10 34 135 30
24211-10-12 17X14 20 12 34 13.5 30
24211-12-08T 1.3/167X12 12 08 305 |15 36
24211-12-10T 1.3/167X12 16 10 325 |15 36
24211-12-12 1.3/167X12 20 12 36.5 | 15 36
24211-12-16 1.3/167X12 25 16 36 15 36
24211-16-12T 1.7/167X12 20 12 325 | 148 41
24211-16-14T 1.7/167X12 22 14 35 14.8 41
24211-16-16T 1.7/167X12 25 16 343 | 148 41
24211-16-20 1.7/167X12 32 20 395 |1438 41
24211-20-16T 1.11/16"X12 25 16 345 |15 50
24211-20-20W 1.11/16"X12 32 20 425 |15 50
24211-20-24W 1.11/167X12 40 24 425 | 15 50
24211-24-20T 27X12 32 20 36 14.8 60
24211-24-24T 27X12 40 24 372 | 148 60
LR TR, 2 WEATESWENRS R 24212-x¢-xx,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER 1524212-XX-XX




maEHESL  HOSE FITTING

.

R L_._i.l‘isz
24291 24291-T 24291-W
90° Z£ffil ORFS WHRALS 1
90°0ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516
o & WAL E w_# R

DT e A | H C S2
24291-04-04 9/16”X18 6 04 275 435 8.5 19
24291-04-05 9/16”X18 8 05 33 44 8.5 19
24291-06-05T 11/16”X16 8 05 33 375 10 22
24291-06-06 11/16”X16 10 06 33 50 10 22
24291-08-08 11/167X16 12 08 42.5 55 10 22
24291-08-06T 13/167X16 10 06 35.3 39.8 11 27
24291-08-08 13/16”X16 12 08 41 58 11 27
24291-08-10 13/16”X16 16 10 56.5 61.5 11 27
24291-10-08T 17X14 12 08 41 46 135 30
24291-10-10 17X14 16 10 48.5 67.5 13.5 30
24291-10-12 17X14 20 12 50.5 75.5 13.5 30
24291-12-10T 1.3/16”X12 16 10 56 515 15 36
24291-12-12 1.3/16”X12 20 12 65.5 78 15 36
24291-12-16 1.3/16”X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/16”X12 20 12 65.5 63 14.8 41
24291-16-14T 1.7/16”X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7/16”X12 25 16 76.9 67.5 14.8 41
24291-20-16T 1.11/16”X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/167X12 32 20 93 100 15 50
24291-24-20T 27X12 32 20 91.5 78.5 14.8 60
24291-24-24T 27X12 40 24 109.4 92 14.8 60

L AR R TREARE, 2 MEATESRENE A 24292-XX-XX,
NOTE 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 24292-XX-XX.

62



maEHESL  HOSE FITTING

A
7 15611
| — S AR
%&ﬂj}ﬂﬂﬁﬁﬂﬂd NPT MALE
E S1
% BT E wo R
ISR = A C s1
15611-02-03 Z1/87°X27 5 03 215 | 105 12
15611-02-04 Z1/87X27 6 04 225 | 105 12
15611-04-03 Z1/4°X18 5 03 27 |15 17
15611-04-04 Z1/4°X18 6 04 275 | 15 17
15611-04-05 Z1/4°X18 8 05 275 | 15 17
15611-04-06 Z1/47X18 10 06 275 | 15 17
15611-06-04 73/87X18 6 04 29 |16 19
15611-06-05 73/87X18 8 05 29 |16 19
15611-06-06 73/87X18 10 06 29 16 19
15611-06-08 73/87X18 12 08 295 | 16 19
15611-08-06 Z1/27°X14 10 06 335 | 195 22
15611-08-08 Z1/2°X14 12 08 34 | 195 22
15611-08-10 Z1/2°X14 16 10 355 | 195 22
15611-12-08 73/47X14 12 08 37 | 195 27
15611-12-10 Z3/47°X14 16 10 37 | 195 27
15611-12-12 73/47X14 20 12 385 | 195 27
15611-12-16 73/47°X14 25 16 395 | 195 32
15611-16-10 Z1”X11.5 16 10 45 | 255 36
15611-16-12 Z1”X11.5 20 12 45 | 255 36
15611-16-16 Z1”X11.5 25 16 475 | 255 36
15611-20-16 | Z1.1/4”X11.5 25 16 49 | 265 46
15611-20-20 | Z1.1/4”X11.5 32 20 505 | 265 | 46
15611-24-24 | Z1.12°X11.5 40 24 535 | 275 50
15611-32-32 727°X11.5 50 32 565 | 275 65

T LB TRRARAE,
NOTE :1. FOR USE WITH BRAIDED HOSES 2.
FITTINGS SERIES NUMBER IS 15612-XX-XX.

2 I TRERENR

N 15612-XX-XX,
IF USE WITH SPIRAL HOSES , HOSE

63



maEHESL  HOSE FITTING

A

C

A7)

16011

7 %l SAE FMELH O FEHE
o

_J&JULMJLU/ SAE O-RING SEAL

51 1ISO 11962-SAE J1926
(A= WY E m 4 O & N ~f
INFRNER frn = A C S1
16011-04-04 11167 X20 6 04 0904 215 |91 | 14
16011-05-04 1/2°X20 6 04 0905 215 9.1 17
16011-06-05 9/16”X18 8 05 0906 225 199 17
16011-06-06 9/16°X18 10 06 0906 225 |99 17
16011-08-06 3/47X16 10 06 0908 235 | 111 | 22
16011-08-08 3/47°X16 12 08 0908 24 111 22
16011-10-08 7/87X14 12 08 0910 30 12.7 27
16011-10-10 7/87°X14 16 10 0910 31 12.7 27
16011-12-10 1.1/167X12 16 10 0912 34 151 | 32
16011-12-12 1.1/167X12 20 12 0912 34 15.1 32
16011-16-16 1.5/167X12 25 16 0916 36 15.1 38

TR L R Os T REREE,

2. WMTEMTESERENS
NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 16012-XX-XX.

N 16012-XX-XX,
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

64



maEHESL  HOSE FITTING

A
.#.L”
@g | 7, 16711L
T
-
JJ JUJMML JIC 74°MALE CONE SEAL LONGER
81 L JIC AMEL 74° ShEEH

KB W47 E W I ~F
INFRNES =2 A C S1
16711L-04-04 7/16”X20 6 04 43 305 17
16711L-05-04 1/27X20 6 04 43 305 19
16711L-05-05 1/27X20 8 05 43 305 19
16711L-06-04 9/16”X18 6 04 47 325 22
16711L-06-05 9/167X18 8 05 47 325 22
16711L-06-06 9/167X18 10 06 47 325 22
16711L-08-06 3/47X16 10 06 51 36.5 24
16711L-08-08 3/4”X16 12 08 515 36.5 24
16711L-10-06 7/87°X14 10 06 56.5 40 30
16711L-10-08 7/8°X14 12 08 57 40 30
16711L-10-10 7/8°X14 16 10 58 40 30
16711L-12-08 1.1/16”X12 12 08 63 445 36
16711L-12-10 1.1/167X12 16 10 64 445 36
16711L-12-12 1.1/16”X12 20 12 64 445 36
16711L-16-12 1.5/16”X12 20 12 66 445 41
16711L-16-16 1.5/16”X12 25 16 67 445 41
16711L-20-16 1.5/8°X12 25 16 70.5 457 50
16711L-20-20 1.5/8°X12 32 20 71.2 457 50
16711L-24-20 1.7/8°X12 32 20 715 46 55
16711L-24-24 1.7/8°X12 40 24 715 46 55

65



BUE 3K HOSE FITTING

747

(4

e
i

RN

16711

EH JIC AMEL 74°  ShHERE
JIC 74°MALE CONE SEAL

el
ft & R4 E A R F
ISP w5 B e =i
16711-04-03 7/167X20 5 03 26 14 12
16711-04-04 7/167X20 6 04 26 14 12
16711-05-04 1/27X20 6 04 26 14 14
16711-05-05 1/27X20 8 05 26 14 14
16711-05-06 1/27X20 10 06 26.5 14 17
16711-06-04 9/167X18 6 04 266 | 141 17
16711-06-05 9/16”X18 8 05 26.6 14.1 17
16711-06-06 9/16”X18 10 06 26.6 14.1 17
16711-08-06 3/47X16 10 06 307 | 167 22
16711-08-08 3/47X16 12 08 312 | 167 22
16711-10-06 7/8”X14 10 06 343 | 193 24
16711-10-08 7/8°X14 12 08 34 19.3 24
16711-10-10 7/8°X14 16 10 35.8 19.3 24
16711-12-08 1.1/16”X12 12 08 38.5 219 30
16711-12-10 1.1/167X12 16 10 394 | 219 30
16711-12-12 1.1/167X12 20 12 394 219 30
16711-12-16 1.1/167X12 25 16 42 219 30
16711-14-10 1.3/167X12 16 10 415 | 226 32
16711-14-12 1.3/167X12 20 12 40.5 22.6 32
16711-16-12 1.5/167X12 20 12 43.6 23.1 36
16711-16-16 1.5/167X12 25 16 45.1 23.1 36
16711-20-16 1.5/87X12 25 16 47 | 243 46
16711-20-20 1.5/8”X12 32 20 483 | 24.3 46
16711-24-20 1.7/87X12 32 20 53 | 275 50
16711-24-24 1.7/87X12 40 24 535 | 275 50
16711-32-32 2.1/2”X12 50 32 62.9 | 339 65
A L BB TRARE., 20 WA TESRE NS A 16712-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 16712-XX-XX.




Mg RESL HOSE FITTING

1
e

A i
e o
il JIC AR 74°  PNHEEH

26711 26711-T JICFEMALE 74°CONE SEAT
& A E AR A
PR fn & A | C 2
26711-04-03 7/16”X20 5 03 145 9 15
26711-04-04 7/16”X20 6 04 15 9 15
26711-05-04 1/27X20 6 04 16 9.5 17
26711-05-05 1/2°X20 8 05 16 9.5 17
26711-05-06 1/27X20 10 06 16.5 9.5 17
26711-06-04 9/16”X18 6 04 16.5 10.5 19
26711-06-05 9/16”X18 8 05 16 10.5 19
26711-06-06 9/16”X18 10 06 16.5 10.5 19
26711-06-08 9/16”X18 12 08 16 10.5 19
26711-08-06 3/4°X16 10 06 18 1 24
26711-08-08 3/4°X16 12 08 185 1 24
26711-08-10 3/4°X16 16 10 19.5 11 24
26711-10-08 7/8°X14 12 08 19.5 13 27
26711-10-10 7/87X14 16 10 20.5 13 27
26711-10-12 7/8°X14 20 12 20 13 7
26711-12-08T 1.1/167X12 12 08 19 15 32
26711-12-10 1.1/167X12 16 10 215 15 32
26711-12-12 1.1/167X12 20 12 215 15 32
26711-12-16 1.1/16”X12 25 16 235 15 32
26711-14-12 1.3/167X12 20 12 215 15 36
26711-16-12T 1.5/16”X12 20 12 18.5 16 41
26711-16-16 1.5/167X12 25 16 245 16 41
26711-16-20 1.5/16”X12 32 20 24 16 41
26711-20-16T 1.5/8”X12 25 16 23 17 50
26711-20-20W 1.5/87X12 32 20 26 17 50
26711-24-20W 1.7/87X12 32 20 26.5 20 55
26711-24-24W 1.7/87X12 40 24 26.5 20 55
26711-32-24T 2.1/27X12 40 24 27 235 75
26711-32-32T 2.1/2°X12 50 32 27 235 75
H L BB TRAME, 2 MEHTESIRENRE R 26712-xx-xX,
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IFUSE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER 1S26712-XX-XX.

66



sl HOSE FITTING

45° ZEHl| JIC IR

J514

74° N SAE
45°JIC FEMALE 74°CONE
SEAT
26741 26741-W
(A= 2 E /4 (=4 R <
N NEES rn & A C H S2
26741-04-03 7/167X20 5 03 376 | 9 | 172 | 15
26741-04-04 7/167X20 04 37 9 18 15
26741-05-04 1/2"X20 04 405 | 95 | 185 | 17
26741-05-05 1/27X20 8 05 415 | 95 20 17
26741-05-06 1/2"X20 10 06 446 | 95 | 203 | 17
26741-06-04 9/16"X18 04 405 |105 | 185 | 19
26741-06-05 9/16"X18 8 05 42 |105 ] 205 | 19
26741-06-06 9/16"X18 10 06 44 105 | 205 | 19
26741-08-06 3/47X16 10 06 45 |11 | 215 | 24
26741-08-08 3/47X16 12 08 565 | 11 24 | 24
26741-10-08 7/87X14 12 08 575 [13 | 246 | 27
26741-10-10 7/87X14 16 10 60 |13 % | 27
26741-10-12 7/87X 14 20 12 757 |13 289 | o7
26741-12-08 1.1/167X12 12 08 58 |15 29 | 3o
26741-12-10 L1/1o X212 16 10 605 |15 2 | 3
26741-12-12 LIT6"X 12 20 12 35 115 U1 2
26741-14-12 T3/16"X12 20 1 7F 15 30 | 36
26741-16-12 1.5/16"X12 20 12 774 | 16 30 | 41
26741-16-16 T3716"X12 5 16 84 |16 | 325 | 41
26741-20-20W | 1.5/87X12 32 20 959 |17 | 352 | %0
D6741-2420W | 1.7/8"X12 7, 20 1009 [20 | 401 | 55
26741-24-20W | 1.7/87X12 40 24 1148 |20 | 441 | 55
26741-32-32T | 2.127X12 50 32 1359 | 235 | 516 | 75
L RS H TREIRE, 2. WFEH TESEEN S N 26742-XX-XX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER 1S26742-XX-XX.

67



sl HOSE FITTING

{

o

90° ZEH JIC PNHRZYL

74° Wi SAE J514
90°JIC FEMALE 74°CONE

L SEAT
26791-W
() 4 E x®__® R
NN R 5 A C H S2
26791-04-03 7/16"X20 5 03 265 | 9 | 305 | 15
26791-04-04 7/16"X20 6 04 275 | 9 33 | 15
26791-05-04 1/2°X20 6 04 275 | 95 | 335 | 17
26791-05-05 1/2”X20 8 05 31 | 95 | 385 | 17
26791-05-06 1/27X20 10 06 353 | 95 | 393 | 17
26791-06-04 9/16"X18 6 04 275 | 105 | 345 | 19
26791-06-05 9/16"X18 8 05 31 (105 | 39 | 19
26791-06-06 9/16"X18 10 06 33 [105 | 40 | 19
26791-06-08 9/16"X18 12 08 358 (105 | 398 | 19
26791-08-06 3/47X16 10 06 33 |11 | 45 | 24
26791-08-08 3/47X16 12 08 425 (11 | 485 | 24
26791-08-10 3/47X16 16 10 49 |11 | 475 | 24
26791-10-08 7/8”X14 12 08 425 |13 A5 197
26791-10-10 7/87X 14 16 10 485 |13 54 | 27
26791-10-12 7/87X 14 20 12 505 |13 62 | 27
26791-12-08 1.1/167X12 12 08 425 |15 | 505 | 32
26791-12-10 1.1/167X12 16 10 485 |15 55 | 32
26791-12-12 1.1/167X12 20 12 605 | 15 63 | 32
26791-12-16 1.1/167X12 25 16 74 |15 635 | 32
26791-14-12 1.3/16"X12 20 12 655 |15 | 635 | 36
26791-16-12 1.5/16°X12 20 12 655 | 16 635 | 41
26791-16-16 1.5/167X12 25 16 6 |16 | 755 | 41
26791-20-20W |  1.5/87X12 32 20 915 |17 805 | 50
26791-24-20W | 1.7/87X12 32 20 915 |20 | 805 | 55
26791-24-24W |  1.7/8"X12 40 24 109.4 | 20 94 | 55
26791-32-32T | 2.127X12 50 32 1331 | 235 | 1218 | 75
L ERRESHAFRERE, 2. MFFEHTESRERT A 26792-XX-XX,
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 26792-XX-XX.




sl HOSEFITTING
90° ZEHEE JIC WAL
74° WNiEMm SAE]514
90°JIC COMPACT FEMALE 74° CONE SEAT
ft % WL E ®_ & R =t
INFRNAER =2 A C H S1 S2
26791K-04-04 7/16”X20 6 U4 1.5 v 15 1L 15
26791K-06-04 9/167X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16”X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/4”X16 10 06 23 11 25 19 24
26791K-08-08 34°X16 12 08 235 I |5 | 22 | 2%
26791K-10-08 7/8°X14 12 08 25 13 27 22 27
26791K-10-10 7/8°X14 16 10 25 13 27 22 27
26791K-12-12 1.1/16”X12 20 12 29 15 |31 27 32
26791K-16-16 | 19/16°X12 %5 16 43 16 (343 | 33 | 41
L ERREHTREARE, 2. WMEHTESPERS N 26792K-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER 1S26792K-XX-XX.
A
c 17811
1%/7;7 _— S| SAE SMERZN 90° 4t
2 | A SAE MALE 90
Sl I CONE
[ ‘ Sl P
KB 184 E 74 £ R ~f
INFRNER 5B A C s1
17811-04-04 7/167X20 6 04 255 127 12
17811-05-05 127X20 8 05 27 14.2 14
17811-06-06 5/8"X18 10 06 285 15.7 17
17811-08-08 3/47X16 12 08 34 19 2
17811-10-10 7/8"X14 16 10 385 224 24
17811-12-12 1.1/16°X14 20 12 44 25.4 30

T L RS TR,

NOTE

2. WMTEHTEERENS
1. FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 17812-XX-XX.

2.

79 17812-XX-XX,
IF USE WITH

SPIRAL HOSES

69



Mg ESL HOSE FITTING

L 27811
ZEifl] SAE PNHRZY
‘ oy 90° WM SAEJ513

| SAE FEMALE 90°CONE SEAT

[ T

20°
E

A= rd m (4 R =
NHENE | R B Al C| =
27811-04-03 7/167X20 5 03 14 9 15
27811-04-04 7/16”X20 6 04 15 9 15
27811-05-05 1/27X20 8 05 16 | 95 17
27811-06-04 5/87°X18 6 04 17 11.3 22
27811-06-05 5/87X18 8 05 17 11.3 22
27811-06-06 5/8°X18 10 06 17 11.3 22
27811-08-08 3/47X16 12 08 185 |11 24
27811-10-08 7/8”X14 12 08 185 |13 27
27811-10-10 7/87X14 16 10 205 |13 27
27811-12-12 1.1/16”X14 20 12 215 | 143 | 32
E L ERRSATFRARE, 20 WFEATESRENRS  H 27812-xx-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S27812-XX-XX.




;EEsL HOSE FITTING

C A ;
%&; 21611
g@m %4 NPSM NIZA
% E{UMUMUUML NPSM FEMALE 60°
CONE
60° 4\ SAE ]514
r B #94 E 0 (=3 R ~f
AHNE | AR B A B |
21611-04-04 1/47X18 6 04 18 4.6 19
21611-04-06 1/47°X18 10 06 19 4.6 19
21611-06-04 3/87X18 6 04 19 6 22
21611-06-05 3/87X18 8 05 19 6 22
21611-06-06 3/87X18 10 06 19 6 22
21611-08-08 1/27°X14 12 08 215 7.5 27
21611-12-10 3/4°X14 16 10 24 8.9 32
21611-12-12 3/47°X14 20 12 24 8.9 32
21611-16-12T 17X11.5 20 12 25 105 41
21611-16-16 17X11.5 25 16 27 10.5 41
21611-20-20W 1.1/47X11.5 32 20 29.5 11.2 50
21611-24-24W 1.1/2°X11.5 40 24 29.5 11.2 55
T LR s TRRRE 2. WMFEATESRENRS N 21612-xx-xX,

NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER 1521612-XX-XX.




ERESL HOSE FITTING
\ 87312
1 SAE %= 3000PSI
%F S SAE FLANGE 3000 PSI

[ [

%

ISO 12151-3—SAE J516

(A= E= L7 (= R =t
INFRNEE 5 A c D L

87312-08-08 127 12 08 455 | 30.2 24 | 6.73
87312-12-08 3/4” 12 08 475 | 381 | 317 | 673
87312-12-10 3/4” 16 10 49 | 381| 317 | 673
87312-12-12 3/4” 20 12 485 | 381 | 317 | 673
87312-12-16 3/4” 25 16 49 |381]| 317 | 673
87312-16-12 17 20 12 51 | 444 38 8
87312-16-16 17 25 16 48 | 444 38 8
87312-16-20 17 32 20 53 | 444 38 8
87312-20-16 1.1/4” 25 16 57 | 50.8 43 8
87312-20-20 1.1/4” 32 20 56 | 50.8 43 8
87312-24-20 1.1/2” 32 20 68 | 60.3 50 8
87312-24-24 1.12” 40 24 74 | 603 50 8
87312-32-24 27 40 24 70 | 714 62 | 9.53
87312-32-32 27 50 32 70 | 714 62 | 9.53
87312-40-40 2.1/27 64 40 76 | 84.1 74 | 953

WL ERREHTFREARE, 20 WA TESIENRS 9 87312-XX-XX,

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER 1S 87312-XX-XX.

72



maEHESL  HOSE FITTING

p—
z) 7~ Ty
N

87342
= 3000PSI

45° SAE V£

45°SAE FLANGE 3000 PSI

ISO 12151-3—SAE J516

= N =2 /4 4 R =
INFRPNEE AR A C D H L

87342-08-08 1/2” 12 08 565 | 302 | 24 | 235 | 6.73
87342-12-08 3/4” 12 08 589 | 381|317 | 24 | 6.73
87342-12-10 3/4” 16 10 69.9 | 38.1 | 31.7 | 253 | 6.73
87342-12-12 3/4” 20 12 735 | 381 | 31.7 | 295 | 6.73
87342-16-12 17 20 12 763 | 444 | 38 | 289 8
87342-16-16 1” 25 16 83. 444 | 38 31 8
87342-16-20 17 32 20 945 |444 | 38 | 338 8
87342-20-16 1.1/4” 25 16 82 50.8 | 43 | 305 8
87342-20-20 1.1/4” 32 20 95 50.8 | 43 36 8
87342-24-20 1.1/2” 32 20 959 |603 | 50 | 35.2 8
87342-24-24 1.172” 40 24 108 | 60.3 | 50 42 8
87342-32-24 27 40 24 1099 | 714 | 62 | 39.1 | 953
87342-32-32 27 50 32 1293 | 711 | 62 43 | 9.53

L MBI TRRGE, 2 W TEEWENE 5 87342-00xx,

NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 87342-XX-XX.

73



maEHESL  HOSE FITTING

A

|
f_LMLUUJJUUL 87392
= 90° SAE i£= 3000PSI
?42% 90°SAE FLANGE 3000 PSI
I 1SO 12151-3—SAE J516
C
B et = m (=3 R ~f
NN = A C D H L
87392-08-08 1/2” 12 08 425 30.2 24 48 6.73
87392-12-08 3/4” 12 08 425 38.1 | 31.7 50 6.73
87392-12-10 3/4” 16 10 56 381 | 31.7 | 525 6.73
87392-12-12 3/4” 20 12 60.5 38.1 | 31.7 | 625 6.73
87392-12-16 3/4” 25 16 76.7 381 | 31.7 | 675 6.73
87392-16-12 17 20 12 65.5 444 | 38 62 8
87392-16-16 1” 25 16 66 444 | 38 74 8
87392-16-20 1” 32 20 915 444 | 38 78.5 8
87392-20-16 1.1/4” 25 16 76.7 50.8 | 43 67.5 8
87392-20-20 1.1/4” 32 20 75 50.8 | 43 86 8
87392-20-24 1.1/4” 40 24 107 50.8 | 43 78.5 8
87392-24-20 1.1/2” 32 20 75 60.3 | 50 90 8
87392-24-24 1.1/2” 40 24 89 60.3 | 50 102 8
87392-32-24 2” 40 24 109.4 714 | 62 94 9.53
87392-32-32 2” 50 32 1155 714 | 62 1295 | 9.53
87392-40-40 2.1/2” 64 40 131.8 84.1 | 744 | 116.3 | 9.53

TR L RS TR,

2. WMEHTESGRENS
NOTE : 1. FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 87392-XX-XX.

2.

77 87392-XX-XX,
IF USE WITH SPIRAL HOSES ,

74



maEHESL  HOSE FITTING

A

Rl
fLHM

87392-H

90° SAE £

N7

3000PSI

D)
-V%C 90°SAE FLANGE SPECIAL HEIGHT
B A

aEE | B 5 AJc o[ H]L
87392-12-12(H90) 3/4” 20 12 65.5 381 | 32 90 6.73
87392-12-12(H100) 3/4” 20 12 65.5 381 | 32 100 | 6.73
87392-12-12(H127) 3/4” 20 12 65.5 381 | 32 127 | 6.73
87392-12-12(H150) 3/4” 20 12 65.5 38.1 | 32 150 | 6.73
87392-16-16(H100) 1? 25 16 76.7 444 | 38 100 8
87392-16-16(H127) 1” 25 16 76.7 444 | 38 127 8
87392-16-16(H150) 1” 25 16 76.7 444 | 38 150 8
87392-20-20(H100) 1.1/4” 32 20 91.5 50.8 | 43 100 8
87392-20-20(H157) 1.1/4” 32 20 91.5 50.8 | 43 127 8
87392-20-20(H150) 1.1/4” 32 20 91.5 50.8 | 43 150 8
87392-24-24(H127) 1.12” 40 24 109.4 | 50.8 | 50 127 8

75



maEHESL  HOSE FITTING

FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE XJJFiE=

(AR N T =1 R EF54R
A| B | D| H M N Mpa

3000PSI

FL-08 1127 54 | 456 | 9 | 62 | 381 |175 | M8X25

FL-12 3/4” 65 | 518 | 11 | 62 | 476 | 222 | M10X30 30

FL-16 1 70 | 584 | 11 | 75 | 524 | 262 | M10X30

FL-20 1.1/4” 79 | 726 | 11 | 75 | 587 | 305 | M10X30 276

FL-24 1.1/2” 91 | 822 | 135| 75 | 699 | 357 | M12X35

FL-32 2 102 | 964 |135| 9 | 77.8 | 429 | M12x35 207

FL-40 2127 114 | 1082 | 135 | 9 | 889 | 508 | M12X40 17.2

FL-48 3" 135 | 1306 | 175 | 9 | 1064 | 619 | M16X50 138
6000PSI

FS-08 127 56 | 472 | 9 | 72 | 405 | 182 | MB8X30

FS-12 3/4” 71| 60 | 11 | 82 | 508 | 238 | M10X35

FS-16 1” 8l | 696 | 135| 9 | 572 | 27.8 | M12X45 42

FS-20 1.1/4” 95 | 772 | 135 | 98 | 666 | 318 | M12X45

FS-24 1.12” 113 95 |175| 12 | 793 | 365 | M16X55

FS-32 2 133 | 1138 | 22 | 12 | 968 | 445 | M20X70

76



maEHESL  HOSE FITTING

A '
I 87612
%‘ 70 SAE = 6000PSI

| =

JLLM A SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

® B e o= " -1 R F
PR i) A c D L
87612-08-08 1/2” 12 08 475 3.7 | 24 | 775
87612-12-10 3/4” 16 10 50.5 413 | 32 | 876
87612-12-12 3/4” 20 12 515 413 | 32 | 876
87612-16-12 1” 20 12 56 47.6 38 9.53
87612-16-16 I 25 16 52.5 476 | 38 | 953
87612-16-20 1 32 20 61 476 | 38 9.53
87612-20-16 1.1/4 25 16 65 54 | 44 10.29
87612-20-20 1.1/4” 32 20 62 54 | 44 10.29
87612-24-20 1.1/2” 32 20 75 635 |51 12.57
87612-24-24 1.1/2” 40 24 79 635 |51 12.57
87612-32-24 2” 40 24 85 794 | 67 12.57
87612-32-32 27 50 32 79 794 | 67 12.57

L EREHATRARE, 20 WTHEATEFRWENRS 59 87612-xx-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87612-XX-XX.




maEHESL  HOSE FITTING

A

N

%A i
. [T
gl gl

45° SAE 7E=

45<=5AE

87642

FLANGE

6000PSI
6000 PSI

ISO 12151-3—SAE J516

=" W B Y & R ~F

TP R A c b| H L
87642-08-08 12 12 08 575 | 317 | 24 | 25 7.75
87642-08-12 12 20 12 77 317 | 24 | 296 | 7.75
87642-12-10 3/4” 16 10 725 | 413 | 32 | 282 | 876
87642-12-12 3/4” 20 12 755 | 413 | 2 | 32 8.76
87642-16-16 17 25 16 86 47.6 38 34. 9.53
87642-20-20 1.1/4” 32 20 100 54 44 40 10.29
87642-24-20 1.1/27 32 20 1058 | 635 |51 | 451 | 1257
87642-24-24 1.1/2” 40 24 112 635 |51 | 46 | 1257
87642-32-24 2" 40 24 1254 | 794 | 67 | 547 | 1257
87642-32-32 27 50 32 143 794 | 67 49 | 12.57

TR L RS TR,

2. WMEHTESGRENS
NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 87642-XX-XX.

N 87642-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

78



maEHESL  HOSE FITTING

A
7 87692
I ] ) o
ﬂ“ﬂ 90° SAE J:2% 6000PSl
) 0=SE  FLANGE 6000 PSI
. % 1SO 12151-3—SAE J516
T . w R+

INFRNES tr = A Cc D H L
87692-08-08 12 12 08 425 31.7 24 50 7.75
87692-12-10 3/4” 16 10 56 41.3 32 56.5 8.76
87692-12-12 3/4” 20 12 50.5 41.3 32 65.5 8.76
87692-16-12 17 20 12 65.5 47.6 38 69 9.53
87692-16-16 1” 25 16 66 47.6 38 78 9.53
87692-16-20 1” 32 20 91.5 47.6 38 85.5 9.53
87692-20-16 1.1/4” 25 16 76.7 54 44 78.5 10.29
87692-20-20 1.1/4” 32 20 75 54 44 92 10.29
87692-24-20 1.1/2” 32 20 915 63.5 51 945 12.57
87692-24-24 1.1/2” 40 24 89 63.5 51 107 12.57
87692-32-24 27 40 24 109.4 79.4 67 116 12.57
87692-32-32 27 50 32 1155 79.4 67 138.5 12.57

T L Rl Os TR,

2. WM TRGRENS
NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 87692-XX-XX.

K 87692-XX-XX.

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

79



maEHESL  HOSE FITTING

60°

A
B
| %ﬁf

<&

18611
H AL SRS 60° b

JISMETRIC MALE 60°CONE SEAT

S1

® B ol L/ (8 R =F
INFRNEE N A B S1

18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 305 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 355 |20 24
18611-24-10 M24X1.5 16 10 395 | 215 27
18611-30-12 M30X1.5 20 12 455 | 26 32
18611-33-16 M33X1.5 25 16 505 | 30 36
18611-36-20 M36X1.5 32 20 56.5 | 33 38
18611-42-24 M42X1.5 40 24 595 | 36 46

T L B ROS H TRAE .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.
FITTINGS SERIES NUMBER IS 18612-XX-XX.

2. T TESRENRT N 18612-XX-XX,

IF USE WITH SPIRAL HOSES , HOSE

80



maEHESL  HOSE FITTING

H A NERZX 60° PYEHE

W A C i1 JIC METRIC FEMALE
Rl R
. | s [ CONE SEAT
2" H | T 3% [~ [
Xz —
28611 28611-W
ft = 24 E wo® Rt
/N INAEES =2 A B S1 S2
28611-12-14 M12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 105 19 19
28611-14-06 M14X1.5 10 06 21 105 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 |10 22 22
28611-18-06 M18X1.5 10 06 24 | 115 24 24
28611-18-08 M18X1.5 12 08 245 | 115 24 24
28611-20-08 M20X1.5 12 08 285 | 12 27 27
28611-22-08 M22X1.5 12 08 255 | 14 27 27
28611-24-08 M24X1.5 12 08 215 | 15 32 32
28611-24-10 M24X1.5 16 10 28 |15 32 32
28611-30-12 M30X1.5 20 12 285 | 183 36 36
28611-33-12 M33X1.5 20 12 31 | 213 41 41
28611-33-16 M33X1.5 25 16 2 | 213 41 41
28611-36-20 M36X1.5 32 20 355 | 20 46 46
28611-42-24W M42X1.5 40 24 3% | 188 55 55
L B S A TRARE, 20 T TESRENRS N 28612-xX-XX,
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 28612-XX-XX.

81



maEHESL  HOSE FITTING

90° H AAHINKEZ 60° WNHMH
90° JIS METRIC FEMALE 60° CONE SEAT

28691 28691-W
f& 5 WAL E "W R
AHAE | T B A | B| H|sL|s2
28691-14-04W M14X1.5 6 04 30 105 | 40 19 19
28691-14-06 M14X1.5 10 06 353 | 105|433 | 19 19
28691-16-05 M16X1.5 8 05 33 10 44 22 22
28691-18-06 M18X1.5 10 06 353 | 115|463 | 24 24
28691-22-08 M22X1.5 12 08 41 14 | 525 | 27 27
28691-24-10 M24X1.5 16 10 56 15 59 32 32
28691-30-12 M30X1.5 20 12 655 | 183 | 715 | 36 36
28691-33-16 M33X1.5 25 16 76.7 | 213 | 76 41 41
28691-36-20 M36X1.5 32 20 93 20 89 46 46
28691-42-24W M42X1.5 40 24 1094 | 188 | 108 | 55 55
LR TR, 2 MEATELEEAE A 28692-xx-x,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28692-XX-XX.




maEHESL  HOSE FITTING

% 19611
B
e o
2 H A TE/H SR 607 SHHEI
: |
< =
]
@< [ T 1S GAS FEMALE 60°CONE SEAT
51
= ALY E ®_® RSt
INFRNER = A B S1
19611-04-04 G1/4°X19 3 04 29 16 17
19611-06-06 G3/8°X19 10 06 31 18 19
19611-08-08 G1/2°X14 12 08 355 20 22
19611-12-12 G3/47X14 20 12 41 22 30
19611-16-16 G17X11 25 16 455 24 36
1 BB E T RERIAE, 2. MWEHTESERE NS R 19612-XX-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER
IS 19612-XX-XX.

% HARZEHINIELS 60° PN
a{ | |

:ék@uuuumm JIS GAS FEMALE 60°CONE SEAT

JIS B8363

29611 29611-W

® = e E L4 (23 R <t
/N INIEES R A C S1 S2
29611-02-03 G1/87X28 5 03 20 / L e
29611-04-04 G1/47X19 6 04 21 8 19 19
29611-04-05 G1/47X19 8 05 21 8 19 19
29611-06-04 G3/87X19 6 04 23 9 22 2
29611-06-06 G3/87X19 10 06 3 9 - —
29611-08-06 G1/27X14 10 06 28 |12 27 27
29611-08-08 G1/27°X14 12 08 oo | I 2f 2f
29611-10-10 G5/8"X14 16 10 305 | 115 30 30
29611-12-10 G3/47X14 16 10 3 |18 32 32
29611-12-12 G3/47X14 20 12 305 | 135 2 32
29611-16-16 GI"X11 25 16 2 | 1 41 41
29611-20-20W GL.1/4"X11 2 20 43 | 185 50 50
29611-24-24W Gl.1/27X11 40 24 43.5 1Y o folo)
29611-32-32W G27X11 50 2 465 |23 70 70
L B REH T REARE, 2. WA TESTENRS A 29612-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER IS
29612-XX-XX.

83



maEHESL  HOSE FITTING

90°

60° N ]IS

90°JIS GAS FEMALE 60°

H AR PNIRZY

B8363

CONE SEAT
29691 29691-W
=2 1847 E LY 1 R i
NS 5 A C H S1 | S2
29691-04-04 G1/47°X19 6 04 30 8 38 19 19
29691-04-05 G1/4°X19 8 05 34 8 41 19 19
29691-06-06 G3/87X19 10 06 35.6 9 45.8 22 22
29691-08-08 G1/27X14 12 08 41 12 53 27 27
29691-10-10 G5/87X14 16 10 56.5 | 115 61 30 30
29691-12-12 G3/4°X14 20 12 65.5 | 135 69 32 32
29691-16-16 G17X11 25 16 76.7 | 16 76.5 41 41
29691-20-20W | G1.1/4°X11 32 20 915 | 185 | 925 50 50
29691-24-24W | G1.1/2”X11 40 24 1094 | 19 110.5 55 55
29691-32-32W G27X11 50 32 1318 | 23 1338 | 70 70
L RS TRARE, 20 WA TESRENRS N 29692-xX-XX,
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES HOSE

FITTINGS SERIES NUMBER IS 29692-XX-XX.

84



maEHESL  HOSE FITTING

A
? Hifijik= 88111
i
27 JIS FLANGE
o LA
| [
— W5 E ®_ & AT
INTRNEE = A C D L
88111-10-08 5/8” 12 08 45 34.2 27.8 6.7
88111-10-10 5/8” 16 10 455 34.2 27.8 6.7
88111-10-12 5/8” 20 12 46 34.2 27.8 6.7

L RS T RRARAE
NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 88112-XX-XX.

2. WFEMTESRENRS

79 88112-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

g Y| 88141
g 1L 11 45" Hfilik=
oY 4 45°J1S FLANGE
2
® B W94 E L/ w R =F
INFRPIRR w5 Alc| D | H|L
88141-10-08 5/8” 12 08 58.9 34.2 27.8 24 6.7
88141-10-10 5/8” 16 10 69.6 34.2 27.8 253 6.7
88141-10-12 5/8” 20 12 76.3 34.2 27.8 28.9 6.7
L EROS TRARE, 20 WFEMATESRENRS N 88142-xx-xX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER 1S 88142-XX-XX.




maEHESL  HOSE FITTING

A

e L
ﬁ

| D)

o}

88191
90°

H il
90°JIS FLANGE

N7

" B W4 E 74 & R ~t
N INEES L= A C D H L
88191-10-08 5/8” 12 08 41 34.2 27.8 48 6.7
88191-10-10 5/8” 16 10 56 34.2 27.8 525 6.7
88191-10-12 5/8” 20 12 66.2 34.2 27.8 62 6.7
L R EH TREARE, 2. WEHTESEYENS N 88192-XX-XX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 88192-XX-XX.

A
M 20011-ST
[ ez INI NS 5 R K
o = =
([’ MMLMM—L METRIC FEMALE WATERWASH INSERTS
G
o % M4 E " R+
DTS o A | d D
20011-22-03ST M22X1.5 5 03 245 14 345
20011-22-04ST M22X1.5 6 04 25 14 345
20011-22-05ST M22X1.5 8 05 25 14 345
20011-22-06ST M22X1.5 10 06 25 14 345

7 L RS H TR,
NOTE : 1. FOR USE WITH BRAIDED HOSES
SERIES NUMBER IS 20012-XX-XX.

2. TN TEERENS

N 20012-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

86



maEHESL  HOSE FITTING

A
- - 70011
%A— 2y INEHI B
= ( P METRIC BANJO
DIN 7642
(A= WAL E 74 =4 R <

INFRNER ¥R A d D H
70011-10-03 M10X1 5 03 145 | 101 | 17 | 10
70011-10-04 M10X1 6 04 17 | 101 | 17 | 10
70011-12-04 M12X15 6 04 205 | 121 | 20 | 12
70011-12-05 M12X15 8 05 205 | 121 | 20 | 12
70011-12-06 M12X1.5 10 06 205 | 121 | 20 | 12
70011-14-04 M14X15 6 04 19 |141 24 | 14
70011-14-05 M14X15 8 05 19 |141 24 | 14
70011-14-06 M14X15 10 06 21 141 | 247 | 14
70011-16-04 M16X1.5 04 205 | 16.1 28 | 16
70011-16-05 M16XL15 05 205 | 16.1 28 | 16
70011-16-06 M16X1.5 10 06 205 | 16.1 28 | 16
70011-18-04 M18X1.5 04 23 181 | 32 | 20
70011-18-05 M18X15 8 05 24 181 | 32 | 20
70011-18-06 M18X15 10 06 24 181 | 32 | 20
70011-18-08 M18X15 12 08 245 |181 | 32 | 20
70011-22-06 M22X15 10 06 281 |221 | 39 | 25
70011-22-08 M22X1.5 12 08 285 |221 | 39 | 25
70011-22-10 M22X15 16 10 275 |221 | 39 | 25
70011-26-12 M26X1.5 20 12 305 1061 46 | 30
70011-30-16 MSUXLS 25 16 ST 1301 54 | 36
70011-30-20 M30XL1.5 32 20 41 [301 | 54 | 36

TR L RO TRARE,

NOTE : 1. FOR USE WITH BRAIDED HOSES

SERIES NUMBER IS 70012-XX-XX.

2. WFEMHTESRENRS

79 70012-XX-XX,

2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

87



maEHESL  HOSE FITTING

c, A
% 700M
7 .
77 =N AR
F METRIC BOLT
& DIN 7643
m
& KL E R
A B C S1
700M-10 M10X1 19 4 6 14
700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 75 22
700M-18 M18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 32
700M-30 M30X1.5 51 22 11 36

88



maEHESL  HOSE FITTING

A
[ ——

%ﬂ— 72011
< [

et
= S B
\ | | HHIIHE BSP BANIO

K & 45 E A A

oEPIEE | R B A d | D] H
72011-02-03 G1/8”X28 5 03 18 9.9 24 16
72011-02-04 G1/8”X28 6 04 18.5 9.9 24 16
72011-04-03 G1/4°X19 S 03 19 133 24 15
72011-04-04 G1/4°X19 6 04 oS 133 24 15
72011-04-05 G1/4”X19 8 05 195 13.3 24 15
72011-04-06 G1/4°X19 10 06 155 133 24 15
72011-06-04 G3/87X19 6 04 22 16.7 29 20
72011-06-05 G3/87X19 8 05 22 16.7 29 20
72011-06-06 G3/8”X19 10 06 22 16.7 29 20
72011-06-08 G3/8”X19 12 08 23 16.7 29 20
72011-08-05 G1/27X14 8 05 275 21 38 25
72011-08-06 G1/2°X14 10 06 27.5 21 38 25
72011-08-08 G1/27X14 12 08 28 21 38 25
72011-08-10 G1/27X14 16 10 29 21 38 25
72011-10-10 G5/87X14 16 10 28 23 40 27
72011-12-10 G3/4°X14 16 10 32 26.5 48 31
72011-12-12 G3/4°X14 20 12 32 26.5 48 31
72011-16-08 G17X11 12 08 40 33.3 60 42
72011-16-12 GI17X11 20 12 40 33.3 60 42
72011-16-16 G17X11 25 16 41 333 60 42

L ERUSHTRARE, 20 WEATESWENRS A 72012-x¢xX,
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 72012-XX-XX.




maEHESL  HOSE FITTING

C | A
== B 720B
= =]
o | IR R
It BSPBOLT
(2 1247 E R
A B C S1
720B-02 G1/87X28 295 4.8 4.8 14
720B-04 G1/47°X19 28.5 6 6 19
720B-06 G3/87X19 38.5 9 7 22
720B-08 G1/27X14 44 13 85 27
720B-10 G5/87X14 48.5 15 10 30
720B-12 G3/47X14 56 18 10 32
720B-16 G17X11 68.5 22 13 41
— | 90011
\UMUJMWLMUUL
MEERE S
L
DOUBLE CONNECTOR

"B " -3 R ~F

INFRNAER R & L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 89
90011-12 20 12 96
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

W B TR, N OTE:FOR WIRE E RAID HOSE.

90



maEHESL  HOSE FITTING

90012
D, R ERE N
MMWMMUM DOUBLE CONNECTOR
L

B wo g R o
IN G w5 L
90012-04 6 " -
90012-05 8 05 -
90012-06 10 5 -
90012-08 12 - o
90012-10 16 10 -
90012-12 20 - "
90012-16 25 5 -
90012-20 2 - -
90012-24 20 " -
90012-32 50 - -

VE:H T4E 45 . NOTE:FOR SPRIAL HOSE.

91



